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1. 3w 3few S sy FaRE Qoieds! wIvRn darar <Y shie™ TR ?

(1) Tow! it g g9 2y F 3N FTIE (FAR) I

() 7 smiy efimEifaet dar (4) ORI o Tl Fa

Which of the following services have a long history dating back to the early years of East
India Company ?

(1) Civil and Medical Services (2} Agriculture and Business Services
(3) Forest and Engineering Services (4) Civil and Techniqual Services

2. FEHN AT 9 FEGHR AT THE T S0 2
(1) TSI (2) SEEdEm
(3) fmoigs 9 @) oot afid

Which is the most powerful instrument of legislative control and executive
management ? '

(1) Budget (2} Audit
(3) Casting Vote (4) Watchdog Committee

3. Fraeum emim=n yftreelt faema srece faamis=t fras =4 .
() WASREHE! SRE HTO.
(b) TSR IA TEIHT A= 201,
(c) SAeERT= FaguE Ta Ui Wiesis 2.

(d) <ot feeum g T aea,
ot} It

(1) (2 enf () (2) (@) v (b) (3)  (b) FA (d) 4) (@) = (d)

Select one of the following statements which is not co-related to the role of Election
Commission :

(@) To chart out the Constituencies

(b) To give recognition to political parties

(c) To give permission to candidates about the expenses in the Election
(d) To monitor and control the elections in the country

Answer Options :

(1} (a) and (c) (2} (@ and (b) (3) (b)and (d) (4) (a) and (d)
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4. fTorcafymrarsn qiHFEeHid Qoo e o

() Toafier o fSeemftueen yea wrEe afysr om

(b) foreeTm fe.amfen, o1 FHH Tae® o

(€) fesmfeu & facer Mwe sfia o ; fSegfmprarst
yfiget 3w

(d) HEAHR FEHH TafIvaRie fSeatmrar iy
T AR,

Tt S
(@ (b} (q (d)

1 @ @ @) (i)

(2) @ @@ @ )

() G) @ @) @)

(4) () (@) @) ()

Match the following about the role of District Collector :

(a) District Collector is Chief Executive officer of ZP

(b} District Collector is Executive Director of DRDA

(c) DRDA is under ZP; Less role of Collector

(d) The Collector plays very crucial role in the

execution of walfare programmes

Answer Options :

)
(2)
(3)
(4)

(@ (b) (o) (d)
G) @ @v) (i)
@) (i) @ @)
G) @) () ()
(v) @) @) ()

0
(ii)
i)
@)

() TSEH
(i) onfEn (sfesm)
(iti) &Y g

(iv) HeTUSg

Rajasthan
Qrissa {Odisha)
Andhra Pradesh

Maharashira
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5. SISyl &l

(a)
(b)
(©)
()

LEiekerica
ISR STThIETET
FiTRdaE SATERd
Hiftfeder suuia
HfFamet Ui

T I

)
(2)
)
4)

@ () () (d
G) vy @ (D)
(v) () @) ()
(1) @) @@ ()
(i) Gv) () @)

Match the following :

(@)
(b)
(©)
(d)

Classification of Party
Regional aspirations
Ethnic considerations

Religious base

Personality based

Answer Options :

(1)
(2)
()
)

@@ (® () (@
@ vy @ @D
Gv) () () (i)
@ @) @ )
(i) @(v) () ()

(ii)
(ii)
(iv)

TO2

W Tar
Rt srheht €o
JTEH T qReE
T I T

afag 73 Hewd

Regional Party
Shiromani Akali Dal

Assam Gan Parished

Rashtriya Janata Dal
Dravid Munetra Kadgham
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6.  FHIvmen WHE 2012 WA STAH 3-BEfeT *iad w3 TS 1% ?
(1) = 9IS T 10 SETien At o1
(2) S|I=AT HIGh ! QA Ga Sfiek aTe ST
(3) Si=A Wikl S Ta STfEew W SR
(4y <HTE W@ 10 TR e T S IR
For whom in April 2012 has e-filing of income tax returns been made compulsory ?
(1)  Those having income above Rs. 10 lakhs.
(2) Those owing two or more cars.
(3} Those owning two or more houses,
(4) Those owning more than 10 hectares of land.
7. URE WV FAARIG HOH 12 Fad ThR SEE SLGET gow hEEl 2002 TR WEois!
FHIU! @ AT FS R ?
(1) dfee= e (2) Al Iufeedt
(3) FR W AF F (4) ifyrer=n et guen
What is abligatory as per the Amendment Act 2002 while filing complaint under section
12 of the Consumer Protection Act ?
(1) Arguments by Advocate (2) Appearance of Parties
(3) Payment of Court Fee (4) Oral Evidence by Parties
8. Sl GRS JHsgH A WPie qaded HUMH Hauld & & 7

" W e T Sl Fited] IRl = Seeer] IR qredaHl &9 %4, 9, 3%
T TS

(1) HoE &% (2) wifuF FEEL dea@ sTisi

(3) T sr=t fdwEw a (4) frEsA amdm

In what context has Dr. Babasaheb Ambedkar made the following statement :

“A state just awakened from freedom with its many preoccupations might be crushed
under the burden unless it was free to decide the order, the time, the place and the mode
of fulfilling them”.

(1) Fundamental Rights (2) Powers of the Union Executive
(3) Directive Principles of State Policy (4) Planning Commission

oAl RIATATS ST /SPACE FOR ROUGH WORK
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9, rggfad <t enfor STyfed S (STEER Sfaay) sty 1989 78R favm i awie
A Tl Hita Sehie |UE M T4 o EIowR ey 6 /

1) 5= 2) 7ad (3) 109H (4) TS AR

An advocate to be appointed as special public prosecutor under Scheduled Castes and
Scheduled Tribes (prevention of atrocities) Act 1989 must have practised as an advocate
for not less than :

(1} 5 years (2) 7 years {3) 10 years {4} None of the above

10. faam (A) : TR Twd ¥ SIS WA SEER T8 SR
HOT (R) : 3 =1 o o= @ AR
g ;
I (A) anftr (R) S SRR 3TRA. (R) § (A) = TR TIHT00 3118,
) (A) 31 (R) EET I STRT 9T (R) § (A) < U SILIFHIT 7181,
(3) (A)T TS AR, (R) ¥ I& L.
@) (A)%'?a\?w%, (R) § SR 3718,

Statement (A) : The President of India is the executive head of Federal Government.
Reason (R): He is the Supreme Commander of the defence forces.

(1) (A) and (R) are true (R) is the correct explanation of {A})

(2) (A) and (R) are true, but (R) is not the expianation of (A)

(3) (A)is true but (R) is false

(4) (A)is false, (R} is true
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11, e 130000 11 oo ard I fas &7
W e qe1 FaguErived SHga gt naie]

et - 1 Tl - 11
(TR @ W) ( SAEERT HITTIATHT W= wHiar)
(a) ‘A= HEFTR Wiee (1)  5,00,000 %.
(b) ‘A € TR UR9E (i) 3,00,000 %
(c) TSemaftee - (iii) 3,00,000 %.
(dy d=mrd g (iv) 2,00,000 %.
Tde digdasd arg I et

fa () (g (@
(O @ ) @) @)
(2) @@ @) vy @
(@) vy () G ()
@) @ Ov) () (@)
Arrange List ‘I’ and List “II' to choose appropriate answer. Candidates limits for
expenditure in the election to Local self Govt. are :

ListI List I1

{Local Self Government) {Limit of expenditure)
(a) ‘A’ type of Municipal Corporation iy Rs. 5,00,000
(b) ‘A’ type of Municipal Council (iiy Rs. 3,00,000
(c) Zilla Parishad @i} Rs. 3,00,000
(d) Panchayat Samiti (iv) Rs. 2,00,000

Choose appropriate answer using following code :
@@ () (@ (@

) ® G @) (v

(2) G (i) @) @

(3 Gv) i) @) ()

4 O Gv @) 3G

12. YEER SEd e Fo9 6 7o 9T WE aelaoe wEe geads ey
=ty fadt Semad gEEm=T fher ok Tid w% viedE ?
(1) & Afg (2) M Al
(3) Wl Aig=e w4 THo (4) & TuE SR T
In case of any conviction in a summary trial under section 6 of the Prevention of Corruption
Act, what sentence of imprisonment can be passed by the Special Judge ?
(1} One Month (2) Three Months
(3} Not less than Six months (4) Not exceeding one year

HoAT HIFERN AN /SPACE FOR ROUGH WORK
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13.  TSITeie A Had Weiets! Fiuw G e o ?
() e G T gufas A9 #Y, TR THISA BRAdE o1 ST,
(by HTTAE AW T ST AAT Bl FH AT [T deamaod FE!,
() oTew fomet ared At gufas 2 &7 qerHEe [ETel A 399 A UEE! e

HITAE T,
o I
(1) (a) %o (2) (b)) w1
(3) (o) K (4) o TR THE L

Which of the following statements regarding appointment of Governor is incorrect ?

(a} Nath Pai suggested that the appointment should be subject to the approval of
Parliament

{b} The Setalvad study team was of the view that the Chief Minister should be consulted

{¢) A.B. Vaipayee suggested that the panel of names should be placed before the Chief
Minister to select one of them.

Answer Options :

1) (a) only (2)  (b)only
(3) {c)only {4) Norne of the above

14, QYT sryfed S 9 STgfad e AR I TEH SAUaTEe i i AT
AT TG T 7
(1) Fde ATAHR T
(2) hu® TH 9 SRR
(3) IO I TSEiw
4) FT oS Hiar A&

Seats are reserved in the House of the People for Scheduled Castes and Scheduled Tribes
but there is a separate provision for :

(1} Assam only

) Jammu and Kashmir only

} Both Assam and Jammu and Kashmir
)

Neither of the above
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10 A

e aEtE fHEEn w

(a) T WERH WEA S W TRT U TS 1.

(b) WIE W Wie WMeEda 3.

() Wu WY 15 Fuiate g T Fld (functional) WHER T8

(d) iR FEmEae g Serforn Feewae afaw 91 20 ¥ gesfee R,

F{io wiom faam stet 7R ?

1) @ @ Gt @) @M @) ()
Consider the following :

{a) National Literacy Minion has been recast as Sakshar Bharat.

(b) The Prime focus is on Adult Literacy.

{¢}  The Principal target is to impart functional literacy to the adults above the age group
of 15.

(d} The auxiliary target is to lay more emphasis on basic education programmes than
on vocational programmes.

Which of the above are correct ?
(1} (a) and (b) (2) (b)yand (c) (3) (c) and (d) 4) (a) and (¢

16.

T B Ao (YD H3T FIHST) TEHEHT B Fa AEITET Tehiad HeEer dar udien
(FET-s Tethg Wiy YHeT) 1 <6 %ae (Uiau faewn 98) aa1 fes dszrE difas
TR MYTe (HTgTg ATw) AMFR T Id W AN IR HET Ao 3Rd

(1) U™ BE 491 C @

(2) fwdm B &

(3) wifawere a afvaeE &

(4) wgAEt WA 60% U

TE FIOR o TS AT 2

NCC graduates are exempted from appearing in the Combined Defence Service
Examination of the UPSC and are selected as regular commissioned officers on the basis
of SSB interviews only. However they ought to have :

(1) NCCC Certificate

(2) Minimura B grading

(3) Graduation with Physics and Maths
(4) 60% marks in graduation

Which one of the above is incorrect ?

HOAT HUERE ST /SPACE FOR ROUGH WORK
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17. a8l f39W am=n 8 sgs e e
(a) 1976 VAT Ul TAIGERER RagR Weliwl e 2001 =1 ST d6he FI0I

TR,

(b) ORI TEIIER 2003 BB Fyifid Foam Seea TaeR EiWE 2004 WEE WEiAE
[REEVCIRCTR -G

qﬂh?ﬁﬁ:

(1) R faum gE aga.

2) faum (a) g&= a1,

@3) faur (b) TFE R

(4) = UM ST TRa S (b) 7 (a) T IO SR,
Read the statements and select the correct option :

(a) A Constitutional Amendment in 1976 suspended the constituency boundary revisions
until 2001 census.

(b} The 2004 General Elections took place in constituencies drawn by Delimitation
Commission in 2003.

Answer options :

(1) Both the statements are incorrect
(2) Statement (a) is incorrect

{3) Statement (b} is incorrect

{4) Both the statements are correct and (b) is the consequence of (a)

18. ‘' ot T SIS aTead Tl foot L, I el e W SERS anfn wiise s e o,
TSI TAEE 379 i BOs ?

(1) d9ET JaeIE 186 Q) T IENRY EEH

() %.THE. TN 4) = g R

“We did not give him any real powers, but we made his position one of the authority and
dignity”.

Who said this about the position of President of India ?

(1) Pandit Jawaharlal Nehru (2) Dr. Babasaheb Ambedkar

3) K.M. Munshi (4) Dr. Rajendra Prasad

oo HIUES ST /SPACE FOR ROUGH WORK
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19, I HAF - 19 AR HwEE - 10 Seeh S0 it wet feeea waiamym siet aikfasE
BEEEE
aet & - 1 qrE . - 11
(a) Tar =9+ 3v9 () THNRER B STHETHT IGHTOAT HIATAF HgeaTe
Yehe Y B0
(b) T I (i) wimesmEr sifowam Tuifem.
(c) e (iii) RIVEEE TEEdT T<dEd ®U

(d) i gwma (tv) Tafirse qemeR WyFE 9 e SUary 9T e,
(v) dRifRd 9 SAnifFRa w
Hichiae :
(@ () () (d
1y @ @ Gv) ()
2 @ @ @) ({v)
@) @) @) @@ (@)
(4y (v) @) @ ()

Match List - I with List - II and select the correct code given below :
List - I List - II

(a) Censure Motion (i) To draw the attention of the House to a matter of
public importance that has arisen suddenly.

(b) Adjonrnment Motion (ii) An expression of want of confidence in ministry.

(¢) Resolution (iii} To cut short the discussion on any matter.
(d) Closure Motion {(iv) House is made to declare an opinion on a particular
matter,

(v} Starred and un-starred questions.

Codes :

(@ () () (9
1 @) @ (@) (@
2 @ @) @) @)
@) ) Gv) G (@)
(4 (v) @) (& )

HTAT HIATATS ST /SPACE FOR ROUGH WORK




A 13 TO2

20. Tieq Fris wfiydi=h T =1 %t ?
(a) TEARKIGR TR Hoedl AN THIFHR H0I,
(b) TRWTEHGR TAR FSTA A= Teh{ e I,
(c) AN TaR wTETS YeEa S FRafeR T ST 30,
(d) Teefaart saeaER TR Foe fFEsmm e F,

iy I
(1) ™ (a) (2)  (a) oM (b)
(3 (a), (b) T () @) (a), (b), (c) 37T (q)

Why was the District Planning Committee constituted ?

(a) To consolidate the plans prepared by Panchayats

(b To consolidate the plans prepared by Municipalities

{c) To provide frame work to Panchayats and Municipalities for preparation of plans
(d) Evaluation of planning made by Collectors office

Answer Options :

(1) only (a) (2) (a) and (b)

() (@ (®) and (©) (4) @) (), () and (d)

21, I FUT/FOA Al
(a) RN SHHa] AT TIEATE] FHTHHTS el aui= ST,
(b) AT SIRHe] SR Hiaaral HRie Ire au=l S,
i T
(1) %9 (a) S, (b) TH
(2) FHF (a) FHIE, (b) AN
(3) A (a) T (b) B TR
(4) T (a) T (b) IR THA
Select the correct sentence/sentences,
(a) The tepure of member of Maharashtra Public Service Commission is of 6 years.
(b) The tenure of Secretary of the Maharashtra Public Service Commission is of 5 years.
Answer Options :
(1) Sentence (a) is correct, (b) is incorrect
(2) Sentence (a) is incorrect, (b} is correct
(3) Both sentence (a) and (b) are correct
(4) Both sentence {a) and (b) are incorrect

FreeAT FIATETE W /SPACE FOR ROUGH WORK
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22, EEHETH RO TG ARAE GO FEAT FOH 123 WA= FAES ST g’ i
e ?
(1) el ereum mén (2) T & T W wiEn gen
(3) fes ot (4) Hou Trgfere Y o
Indian Evidence Act, sec. 123; Evidence as to affairs of state is based on which maxim ?
(1)  Audi alteram partem (2) Nemo judex in propria causa sua
(3) Vis major (4) Salius populist supreme lex

23. TS faum =&
(a) WERrETEA fauH 9idle RIS §@ 2021 T SUHAC 9500 TRE.

(b) waETd wi T WAl T AAGRUHHE WA S 20% W1 B (AaRRieA 9 )

3T L.
4y iy fage -
(1) (a) SR 3 (2} (b) TR 3R

(3) (a) AT (b) A= A AR (4)  (a) SV (b) e TR A=A
Consider the following statements :

(a) The total number of seats in Maharashtra Legislative Assembly will be changed
after the 2021 Census.

{b) There can be a difference of maximum 20% in the number of voters of the biggest
and smallest constituencies.

Choose the correct option :
(1) (a)is true . (2) (b)is true

(3) Both (a) and (b) are true {4) Both (a) and (b) are false

THTAT HUTETS FAFT /SPACE FOR ROUGH WORK
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" gmfesn sSR! A1 oo 1Y

| (a) 9 TR 99 T 90 aREra T9e s

(b) hIoTTEr Wt AT Frof fhen uRonfaes St o HagH (fadibean) # sy
.

(c) s AT HAWA Fa9T S T TRUT Sihgdd  Taug Tead ST T,

(d) e U9 We ¥dT Sl GWieh il SeeeR TEar.

T IW :

1) (@) =TT (b) (2)  (b) e (d) @) (@), () F () (4 (d) F

The “Principle of collective Responsibility” means :

(a) The Cabinet Ministers voice the same opinion before the state legislature

(b} Inno case is a minister expected to speak against the Government decision or policy

{(c) In the cabinet meetings, they can differ from each other but any public exposure of
these differences is considered undesirable

{d) Allthe members of the council of ministers are collectively not responsible for all the

acts
Answer Options :

(1) (a) and (b) (2) (b)and (d) (3) (@), (b) and () (4)  {d) only

25..

1992 =1 FETNT TEETAN WL TCTEEE AR ACTEEAE U HI0T Gt
TR A= ot ?

(a) HfH (by Fawem 9 et

© HudHg (d) femads

ot TR fau/ faum sRYe o 2

(1) 9P (a) 2) (b)) @) (@) b)) (@) (a), (b))
Under provisions of the Act of 1992 which religious commumtles have been recognised as
minorities by the National Minority Conunission :

(a) Muslims (b}  Christens and Parsis

(¢} Jain and Buddhists (d) Sikhs and Buddhists

Which of the statement given above is/are correct ?
(1) Only (a) (2) (b) and () (3) (a) (byand (c) (4) (a) (b)and(d)

26.

Arfgat dE ST, 2000 FIvET GIAS ¥ AfHFAfTg For o ?

(1) e gt (2) souitrR wimder wrewR = A0

(3) TR Y (4) wlo wd

With which following object the Information Technology Act, 2000 has been enacted ?
(1) To provide information

- (2) To provide legal recognition for electronic commerce

{3) To provide technology
{4) All the above
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27. WO T AT BV I GE FIUGT TS 2
(a) TR 7T qe yEw
(by  HRRTE I gfyEH S
(c) TS amfn syiygay
(d) TR St UeRE

i I

(1) (a) ® () (b) ST (d) (3) () v (4)  (a) o (b)
The Panchayati Raj form of local self Government was adopted by the States in which
order ?

(a} Rajasthan and Madhya Pradesh

(b) Maharashtra and West Bengal

{¢} Rajasthan and Andhra Pradesh

(d} Andhra Pradesh and Rajasthan

Answer Options :

(1) (a) only @ (Mad@d () (©only (4) (@ and (b)

28. @ fauren fa=m +1 ¢
ARETUT AIST TTAHS | HEA SR el S TR Sl
(a) WRATHA FHHFSCE HEHYA . 2 PrEne sfys T fre.
(b) =110 e afees s FEHiaye ISR <.
(c) TRUM 50% 3TTed] @9 & s WEATAT e T TS Ty B,
T FE e R a2 |
1) @@ 2 Gt @) @AM @) (a), )T
Consider the following statements :
The scheme of reservation is being extended to voluntary agencies which :
(a) Receive grant of Rs 2 lakhs and above from the Consolidated Fund of India.

(b) Employ more than 10 persons on a regular basis

(c) Atleast 50% of its recurring expenditure is met from grants in-aid form ‘Central
Govt'.

Which of the above statements are correct ?

(1) (a) and (b} (2)  (b)and (¢) (3) (a) and () 4) (), (b) and (c)

T HIATES, AT /SPACE FOR ROUGH WORK
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29, JYfaa S o I TOEl (FEER Fiaay) Aty 1989 7 foRiy FES &1 d9e™
3T it 7

(a) THIGH TR FoR TR TfafFam 1955 T aed Teadl TBUM.
(b) WG €% whadea Heitia gl RS aed e WU

T §F fayridie Hivd Irg TR ?
(1) Hd (a) UM (b) & (2) wEd (b) 3N (a)
(3)  (a) 30T (b) S @) (@9 b)

Why was the Special Act-The Scheduled Castes and the Scheduled Tribes (Prevention of
Atrocities}) Act 1989 brought into force ?

{a) The then existing law the Protection of Civil Rights, Act 1955 had proved to be
inadequate

(b) The normal provisions of the Indian Penal Code were not adequate enough
Which of the above two statements is/are correct ?

(1) Only {(a) and not {b) (2}  Only (b) and not (a)

(3) Both (a) and (b} (4) Neither {a) nor (b)

30. T FI faem ST S ?

(1) TEHI=N ITUIHET e TN T S S stawd 92 fa
P

(2) STEd HefiE STEn TerT TS 9% Rl
(3) TSIHI=AT S QAIAIY TgHAHT TR Foed SUaM STEHITAre 1 Heal a4,
(4) SR 3@ Aigva™ Fem dre feamid! 9w el e

Which of the following statements is incorrect ?

(1) Deputy chairman of the council of states shall vacate his office if he ceases to be a
member of the Council

(2) Deputy Chairman may resign from his office any time

(3) Deputy Chairman may be removed from his office by a resolution of the council
passed only by two thirds majority of the council.

(4) Atleast a fourteen days notice has to be given before moving the afoicsaid resolution
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31. STEvHSeE HeEiHedld o fqur e

(a) Traif=a snftr frge weeg sToam.

(b) Traifaa weer & F&AT 2req S

(c) Traffaa o Fraed wewait S art a9,

(d) TEifaa 9 =AM THE! Ay B Hag .

g I ‘
(1) (a) S (b) T (2} (c) el (d) we
3)  (a), (b) MW (c) (4) (a), (b), (c) =m0 (d)

Find out the correct alternatives regarding the Members of Cantonment Boards :
(a) There are nominated members and elected members

{b) Elected members are in minority

{¢} The nominated and elected members are not equal in number

(d) The elected members elect from among themselves one Vice-President
Answer Options :

(1) (@) and (b) () (c) and (d)

(3) (@), (b and (0 (@) (a), (b), (©) and (d)

32, WETE AAiYSR 9 SO @Rie Skl G9rE werHE HEe
(1) —fade, smiE, fae, frres
2) fade, fFge, smiew, vrRa
() Trrds, emfte, fem, v@
(4) W, foe, st Hfaos

As for introducing Universal Adult Franchise, choose the correct chronological order of
countries :

(1) New Zealand, US.A., UK., Finland
(2) New Zealand, Finland, U.S.A,, India
(3) Finland, US.A.,, UK, India

(4) France, UK, U.S5.A., New Zealand
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33, TENIE T9W KT TRId HIHHE L& HIMEE! 6 :

(1) 30 939 IEEd (2) e Vg 95 STEEd

(3) 10 9EH EEA (4) 29 9EW STEEd

To start the proceedings of the lower house of the state of Maharashtra the lower house
should have :

{1) 30 members (2) members more than half

(3) 10 members (4) 29 members

34, GO fAYm A" s e e

() WIHHR FTETER Faiea AT STUHR FHaw e ATUhRI=n FTEe = Teediqd
Haifed AR AT T AROAHS IR AR T qear TSR F16va™ S96

AfRR 374

(b) IRferdi= MywR FEi= AT FI@ TEAR IH B ITHhd N I AAGE 30
TR AT ILYAE g, e,

AT I

(1) Taum () w7 37 7T (b) HHTS SR
2) faum (b) ¥ 3¢ W (a) THR 3R,
(3) o faurd W e,

) < faum sToE SRa.

Read the statements given below and select the correct option.

(a) The writ jurisdiction of the Supreme Court extends only to cases of violation of
fundamental rights while High Courts enjoy wider powers and can issue writs in
cases of breach of any right.

(b)  While the Supreme Court can issue the writ of habeus corpus only against the state
while High Court can issue it against private individuals.

(1) Statement {a) is true but (b} is false
(2) Statement (b) is true but (a) is false
(3) Both the statements are true

{4) Both the statements are false
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35, WE BIHUAT AN ‘HI' (SAMPERA) T T Fohed TE et AR, SH Tois o R -
(a) R HifgdrE FEE Bl
(b) YR HE q Wog i
(c) Y% SHIARHEI Bratte Siage it gEaeR T arag Syferd ],
(d) FfaEa/TEdT S@ A TES aNe FE0 IR,

TR S

(1) ®). ) (d) @ (@ () @

() (@), (b), I (o) @) (@ (b), (o) A (d)

The UPSC have recently undertaken a project called ‘SAMPERA’, the benefits of which
are :

(a) High speed scanning of data

(b) Accurate and faster generation of Admit Cards,

(c) Attendance lists with photo replica and signature facsimile of each candidate,
(d) Cases of impersonation/malpractices will also be eliminated

Answer Options :

(1) (), (c), (&) (2) (@) (), (@)

(3) (a), (b). and (c) 4) (@), (b), (0 and (d)

36, WG WY WG WEEIToR gifis Jovd g9 JI9N Teeas! Sl alqel geTRd
3Ted 7
(a) e Tovd g% Fo@ IRAE MRS STWRY TR,
(by e aAreromeh Hafua iy, faxia Teea F@ T 99 FeEmER G 5% vee.
(c) WEwTH Teur= g aififes Qe 96 WRdg AN G e SUardl hrEel g 0

= Ao
(d) FUYT RO FO & v o TevarEl ®e wasva 98,
1 ®) (D 2) (@) (o) ©, @
3) @, () © (4) HIURE AL A

In the context of right to freedom of religion which of the following provisions are

constitutionally tenable under Indian Constitution ?

(@) Right to freedom of religion can be enjoyed only by the citizen of India.

(b) State can make a law restricting any economic, financial or political activities
associated with the religious practices.

(c) State can make a law for throwing open Hindu religious institutions of public
character to all the Indian citizens.

{d) Carrying of kripan shall be deemed to be professing of a Sikh religion under

Constitution.
1 (®), (@) 2) (@, ) (@ d)
(3) (), (b), () (4) None is tenable
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37. ULYAN TEF 9 Wewl QUAMIE! T HATRYS 3Hd 9 TEudl &1 ool aR SR 1 9IEar,

g .
(a) TEgTt HatafoRs Toearal HaaR HIA U] & TR
(b) WU oot et 2 S/ Yam hde Hai aed el hE .

(c) WEST ORE T R 3N 9 T Foadt T e o g
wefacars d Fergd s wiftd Sigudd o H1: B[ g Tho.

Wﬁﬁ:{:
(1) (2)9 (b) 4 ?) @ (9™
(3) (b)F (c) A7 @ fodt s

. There is a council of Ministers to aid and advice the President who, in the exercise of his

functions acts in accordance with such advice, however :
(a) The President can not ask the Council of Ministers to reconsider such advice

(b) The question whether any advice was tendered by the Council of Ministers to the
President can be enquired into only by the Supreme court

(c} If a member of the Parliament gets disqualified to be a member and he contests
election before the expiry of the term of his office he can remain as a Minister until
he is declared elected.

Answer Options :
(1) (a) and (b} are correct {2) (a) and (c) are correct

(3} (b} and (c) are correct (4) None is correct

38.

HAIG(Ta Tt Sgiad THTa! (SR Jioay) SfatEm 1989 TR faR <oy 9w Fivam
g F/@?

(1) =d TR Famm (2) AR T
(3) ¥w gAEi (@) frafi g

What is the object of establishment of a special court under the Scheduled Castes and
Scheduled Tribes (Prevention of Atrocities) Act, 1989 ?

(1) Prompt redressal (2} Remedy
(3) Speedy trial (4) Regular trial
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39.

22 A
e ST e 9 Frust Frasus Svam ar wuen SR -
(a) wmﬁ@rrﬁw
(b) et gRETTED

(c) STaREfET=l SAGISIN

(d) TSR e YFesh, Jfafesra] yaRom= gl

Ay w1y S

(1) +9% (a) 2) F9 (b) (3)  (a) ST (b) 4)  (a), (b))
Election Commission faces following difficulties in conducting free and fair Elections :
(a) Criminalization of Politics

(b) Intra - Party dictatorship

(c) Implementation of code of conduct

(d) Opportunity to political parties for broadcasting on Radio, Television

Choose the correct alternatives :

(1) only (a) (2) only (b) (3) (a) and (b) (4)  (a), (b) and (d)

40.

SrEwae g fie TafasI= SR S Wy 9aEHel SRRl (@ S e
HaTF & ?

(a) o T AT AR & .
(b) ot SERS SITATETRIET 7T T,
(c) T cueRll AT TR T 39T R,

o
(1) HF (a) (2) WA (b)
(3) T () 4) ot T

Elections to the House of the People are on the basis of adult suffiage however so as to
have the right to vote what is not essential ?

(a) The person has to be a citizen of India
(b) The person should not have been disqualified for non residence
(c) The person should not have been disqualified for unsoundness of mind

Options :
(1)  Only (a) (2)  Only (b)
(3} Only (¢) (4) None of the above
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41. AT Saurdie SFes 371 &1 | 2
(1) <9 9 HIER Fea oy aqe
(2) U@ IF-TH ARG foaes g
(3) Treow Fuar Teareiar favm atqg
@) Tofaw Toisia faey @
What does Article 371 of the Indian Constitution provide for ?
(1) It provides special provision for Jammu and Kashmir
2) It provides special provisions for only the North East Sector

(
(3) Tt provides special provision for the state of Hyderabad alone
(4) It provides special provisions for the various states

12, WO P/ Fr S ST ?
(a) SAFERT YRAE TARE FeSUER AaRAe T ST,
(b)  ST¥l eIl WRATHI® HITRATE HAGREHE 14 59 The.
() WASR TEUA T ICAUATRT S SR AT AT 3T el e,
T IW
(1) & faum ) K AR (3) WHK () @) (a) A (b)
Which of the following statements is/are true ?
(a) A non-resident Indian citizen is eligible to vote in elections.
(b)  Such person can be enrolled as a voter in any constituency in India.

{c} To get registered as a voter the person has to apply to the Indian embassy.

Answer Options :
(1) All statements (2) None (3) Only (@) (4) (a)and (b)

43, Taem (A) ; WRETG TSTER=T 368 1 HOHITAR HeAGewi=! Gishdl THE FROA 10 TR,
TRUT (R) : TRAS IATeEAd HeAIges = fafay gt wifaean s
T 3
1) (A) M (R) SRR 3TRA. (R) T (A) 3 Tk TILIHI TR,
(2)  (A) 3T (R) IUR 318, (R) 7 (A) o TR0 TR
(3) (A) TR 38, (R) TH TR,
(@) (R) SR AR, (A) TIF R,
Statement (A) : The amendment procedure in India has been provided in article 368 of
the Constitution.
Reason {R) : There are multiple methods of Constitutional amendment in India.
Answer options :
(1) (A) and (R) is correct. (R) is the correct explanation of (A)
(2) (A)and (R) is correct. (R) is not the correct explanation of (A}
(3) (A)is correct. (R)is false
(4) (R)is correct (A) is false
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44. fofay doaifte demisE fawmt SftEe @ sdaet 12
(a) TfeEn 99 AeriE TN I el Ao
(b) UTEeA UTe AR TR AR SIS .
(¢) e At IE Freaes Iwaia Scwmer SUadt Tl
(d) R G Aot g (e Seiaia SeeieR SIae! el
(&) UTHE ASHINT @ Q¥ Scaaial ool Tl
() ST ASTTIRET TS SNl Seaaar et A
(g) e ARG W Iwd IR o Aot
(hy i AAYREA W@ Iwad SR Sad et
i S
1) (®),d)® 2 (a) (c) (e 3) (@) (@) 4 (h)

How were the growth targets fixed for the various plans ?

{a) For the first three plans they were set with respect to National Income.
(b} For the five plans they were set with respect to National Income

(¢) For the fourth plan it was the Net Domestic Product

{d) For the sixth and seventh plan it was the Net Domestic Product

(e) From fifth plan onwards it has been the Gross Domestic Product

{fy From Eighth plan onwards it has been the Gross Domestic Product

{g) From Fourth plan onwards it has been the Gross Domestic Porduct
(h) All along it has been the Gross Domestic Product

Answer Options :

(1) {b), () (O 2 (@) (© (& 3 @ 4)  (h)
45. mmwﬁ@wﬁ%mmmgmﬁﬁmmﬁwwﬁ
fergrell smes”
T 9 TooIH! THM INers JAfFHREEd He 8.
(1) & FvEaa TG (2) . quE gEet
(3) STH, WA (4) S SLAR. sTeEa

“1f Governor is given freedom to exercise absolute discretion in every situation, the structure
of Indian Union will be scattered”.

Who made this statement in the context of authority of Governor ?
(1} Shri. Yashvantraoc Chavan (2) Shri. Pranav Mukherjee
(3) R.S. Sarkaria (4} Dr. BR. Ambedkar
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46, Y g RV ST, 1955 T9R faftre Fw § 91 SEaer 9 o1 € TR sRuaEe!
(1) ot T ¥ ST R HOS .
(2) FIER] B3 HS FES T R AL
(3) dRe TR FO Y ETH AR,
(4) o 3t wHe TR

In order to presume a particular act as an offence under the Protection of Civil Rights Act,
1955 :

(1} Tt must have been committed with the intention of untouchability

{2) Done with any intention

(3) Done with bad intention

(4) None of the above

47. e GERATE WA TS w9 SAd deal W WY RS T 89 -

(a) W YIS {9 S .
by #__ wivfreiEE yid @ .
(@ w__ ThiriE® Seavane o a5,
T IW
(1) ¥ (a) 2) 92 (b)
(3) (=) 1 (b) @) w9 (o)
A Minister for the Union while taking oath of office should ideally say :
fa) 1 do swear in the name of God that
{0y 1 solemnly affirm that
{c} I _solemnly affirm in the name of God that
Answer Options :
(1) Only (a) (2)  Only ()
(3) Either {a) or (b) 4) Only (¢)
48. ITTOR WS TRmEe miedt <0 ¥ ydE s haey STk,

(1) Wifgaran sfuser afyfA, 2005

(2) T gos W& SAfufrEA, 1955

(3) TS Thm sifufam, 1923

(4) wlodw! HRE TE

It is the duty of every person to give information to police as to commission of offences
under .
(1) The Right to Information Act, 2005

(2)  The Protection of Civil Rights Act, 1955
(3) The Official Secrets Act, 1923

(4) None of the Above
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49. FF TRFTHGT AN [Senrarea &0 o% UG S0 safeaTa Afgeri e [hR Yo
FAW A1 WS TG hocd! Tal IaG S A= 71 §1 R A 04 4.

(a) <A sifeearng gt

(b) Wt

(c) T vt

(@) oft difAtear siferei
(e) it wetem

() o FgE S

2007 AL FOGUH] HIVET [EHRR AP JUEFE DT, TOER g, i) §4 It
i HI0AE

1 o @ @ 3) ©® (4) ool T

Stree Shakti Puraskars are given in recognition of achievements by individual women in
the field of social development by the Government of India.

These awards, six in number, are given in the name of the following eminent women
personalities.

{a) Devi Ahilya Bai Holkar
(b} Kannagi

(c) Mata ]ija’bai

(d) Rani Gaidanliou Zeliang
(¢) Rani Lakshmi Bai

(), Rani Rudramma Devi

Which award was added in 2007 given for outstanding administrative skill, leadership
quality and courage ?

(1)  (b) ) (d) 3 © (4) None of the above
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50. RAW U= Ffei=n ST Eoeiet S TEdt vev stadd T 2
(a) <M fohen ifeer T wafag wveq o oA M s 3.

(b) HIVETE! T el S W1 Tovaawal Radta T4 faefl Heer v wgwdt siaeas
.

() HIUNE 59, FEIMET T TUMF FTad Fal 450

(d) HeHla TSy W 0 AFEA $R WA, TEE O AYer dhgwida wewm=t i w6
BET

a3
1}y (o (d) 2) (®)© @ 3y (@ (d) (4) (b) (d)

Which of the following constitutional provisions are not included in the Constitution in
respect of formation of a state in India ?

(@) New State can be formed by uniting two or more States

(b)  Explicit consent of the concerned legislature of the state is necessary for altering the
boundaries or the name of the state

(c} A state can be converted to a union territory

(d) Central Government can constitute a state or a union territory after obtaining the
opinion of the concerned government

Answer Options :

1) (9 (d) 2 ®) (@ (@) @) (@ @ @ ()4

51, IV TG YAk G lFian Tl fha1 e e Ao Tsfaen fedr ?
(@) 1966 - 1969 (b) 1990 - 1992 (€} 2000 - 2002
g 311%?[ :
(1) (a) 01 (b) @) (a) 37w () 3)  (b) A (o) (4)  (a), (b) 3 ()

During which periods the Five Year Planning was not effective or when were the Annual
Plans put to practise ?

(a) 1966 - 1969 (b) 1990 - 1992 (c} 2000 - 2002
The options are :

(1) (@and(b) (2) (@ and (c) (3) (b} and (c) 4)  (a), (b) and ()
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52. WBYSR! R faur g R ?

(a) & qEiler HTEET  CETE T S A FreeuEta i Svay ST 3T, S olee
HIIER/ $THER Swads/furads aoe 1 79 B S i @nfaege oTie woan
FHS

(b} I WeElte watw FrEreETEn iy @ de yosia SHo al S8 "HeR/ SRR U g,
v TR

(c) IIH TR HIY Ol : 7Y Heed HQ TG IFA .

(d) TTERY IS EUTET : 7Y UL T H{UHR TFOMR Tt Ty @i &0 o wEe.

(¢) TSR FHE U : ST WS T A 76 S T &N I ey v,

TR 3

M @afeE @ @atE @) FE (4) ER ()

Which statement amongst the following is incorrect ?

(a) Law prior to July : Sitting legislators could hold on to seats even if convicted for
crimes that would disquality them from contesting elections while their appeal was
pending.

{b) What SCruled in July: Sitting legislator convicted for such a crime to be immediately
disqualified and not continue as an MP, MLA pending appeal.

{c} What ordinance says : Sitting legislator so convicted would be aliowed to continue
while an appeal is pending

{d} The ordinance further says : Sitting legislator so convicted wouldn’t be allowed to
vote but would be paid the salary

(e} The ordinance further says: Sitting legislator so convicted would neither be allowed
to vote nor would he be paid the salary

Answer options :

(1) (a) and (¢ (2) (d) and (o) (3 only (d) (4) only (e}
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53. @oe fauriar fER %4 @ (A fi R)

TaamT (A) : SRICUET SegT T RUH F1E Fld STHa™ deg] &A1 IqaHd ey =H a0
T VT 31 e,

THRUT (R) : § TEAHNS ey WA Hdod IR WE THad S0 Tt RUE dai-or 5
ST,

WHE TEREmYH g Iaus] 698 %4

(1) (A) 3o (R) St T A (R) R (A) = TR FHHT IR,

(2) (A) Y (R) T W oM8q WY (R) © (A) ¥ FWEL FHROT T0ELL

(3) (A) ¥H@ IR T (R) G2 IR,

(4) (A) @I AR T (R) T 3L

Consider the following statements (A and R)

Assertion (A) : Vice-President, when acts or discharges the functions of the President
does not get emoluments payable to the Chairman of Rajya Sabha.

Reason (R} : He does not perform the duties as a Chairman of Rajya Sabha and gets
the emoluments payable to the President.

Select your answer from the following alternatives :

(1) Both (A) and (R} are true and (R} is the correct reason for (A)

(2) Both {A) and (R) are true but (R) is not the correct reason for (A}
(3} (A)is true but (R) is false

{4) (A} is false but (R) is true

54, wiggmren wd e MRAE GRS sHed e FRIE 15 ST 1947 TETyHNY qEiets!
HioTe favmTa Sean S gl ?

(a) ¥ b) e

(©) ¥ w () =ET
T T

1 @ dFE () (b} ()= (d)
3) (a) d)F(d) (4) @@

Initially after the commencement of the Constitution appointment of members of the Anglo.
Indian Community were being made in which of the following departments as were being
done before 15% August 1947 ?

(a) Railways (b) Customs

(c) Income tax (d) Postal and Telegraph
Answer Options :

(1) (a) (b) and (c) (2) (b}, (c) and {(d)

(3 (@), (b} and (d) (4)  (a) () and (d})
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55. WRAE WaUA (dfea! GURoT) FEET 1950 HIEE! TR,
(a) WO T AT W@ FER G ey
(b) =R, ¥R fohar Qe AER rdaa Fra
() Swaie s TR ¥ T
(d) TeEiERRa FEE erfuftaamer @9 99 Fetauae! weEd fuifia s i,
At W
(1) (@) A (b) (2) (o) s (d) (3) (o) 3T (c) (4)  (a) oW (o)
What did the Constitution {(First Amendment) Act 1950 provide for ?
{a) Several new grounds of restrictions to the right to freedom of speech and expression
(b}  Prescribing qualifications for carrying on trade, business or service
(c) Representation to the Lok Sabha was readjusted
(d} Time limit for the states to convey their views on the central laws

Answer Options :
(1) (a) and (b) (2) (o) and (d) (3) (b} and () (4) (@) and (9

56, TSI IAT@E! AHUEH FHIOARLIT SR SR Hivd 6y garas 1 ?
(a) TR &G O T I Uil
(b) T I TSRS STETE.
(¢} <t et TR foRiva: o= w@a Heftd a9l
(d) ot ekl T SRR S Gated STE.

i =
(1) (a) T (b) (2) () ¥ ()
(3)  (a), (b) 3 (o) @) (), (b) () =TT (d)

What criteria have been suggested by Sarkaria Commission when a person is to be appointed
as Governor of the State ?

(a) He should be eminent in some walk of life
(b} He should be person from the outside the state

(¢) He should be a person who has not taken part in politics generally and more
particularly in the recent past

(d) He should be intimately connected with the local politics
Answer options :

(1) (@) and (b) @) @ and (©

(3) (a), (b) and (¢} 4) (a), (b), (c) and (d)
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57. WOT HUH 9=
(a) Torgor ® "= wed wfifirerie awed gata sava o
(b) 3= Toerond THREHHA W T 1 TR S8 SEE .
(c) i faemdieim ¥ TR Fg7 STRM fHed e

Tt SN
(1) () 3T (b) SRR TRA. 2) (b) 3 () TR TR
(3)  (a) 2 (c) TR TR 4) (), (b) 3 (c) fost =R o

Consider the following statements :

(a) Education is in the concurrent list (7th Schedule of the Constitution)

(b) Centrally funded institutions are set up by union government to maintain uniformity
in higher education

{c) Deemed University is not a centrally funded institution

Answer Options :

(1) (a) and (b) are true (2} (b} and (c) are true

(3) (a) and (c) are true (4) all three are true

58. RN g% W& Afufaw, 1955 AT TR Wo@UH! ST THR 31784 ?
(1) TEOIH J =q Iroavdl a7 (2) SEEEIS
(3)  THR WA FITATERE (4) YU THEHRT A IR
Offences under Protection of Civil Rights Act, 1955 are of which type ?

(1) Cognizable and triable summarily (2) Non - Cognizable
(3) Compoundable (4y Non - Compoundable

59. ARG HYT/HYA HSEEL
(a)  vIRaTAT wEoRE YReEE 999 haa feigT 5o o,
(b) T o wErET IReTw aT=A 62 = 9H1 QaTad BRI
Lo ipifcar

(1) YT (a) SR, (b) A

(2) F (a) THH, (b) TR

(3) FUF (a) F (b) AE F

(4) F¢F (a) T (b) TE TH

Select the correct sentence/sentences :

{a) The payment of Auditor General of India is made from the Consolidated Fund.
(b) Controller and Auditor General retires at the age of 62 years.
Answer Options :

(1) Sentence (a) is correct, (b) is incorrect

{2) Sentence (a} is incorrect, (b) is correct

{3) Both the sentences {(a) and (b) are correct

(4) Both the sentences (a) and (b} are incorrect
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60. HHSTA HIHATAT WS HIVA [FLM @Y AR ?
(a) WA wmEN Rqa JToavaE 9.
(b) WA FHEN fEiqT fhan Sueliq Toavam 4.
(c) wiaurren YR gees wmae fEqH e susiqe wredar 39 2.
(d) WU/ ey e ST HEH SATICdT HRPNTHG YT & Ikl

Ty

(1) (@) = (c) (2) () = (d) (3) TFH (b) (4) T (a)
Which of the statements about the language of transaction of business of the Parliament is
untrue ?

(a) Business in Parliament is transacted in Hindi
(b) Business in Parliament is transacted in Hindi or in English

{¢) At the commencement of the Constitution the business in Parliament could be
transacted in Hindi or in English

{d} A member may express himself in his mother tongue with the permission of the

chairman/speaker
Options :
(1) (@) and (c) (2} (b)and (d) (3} (b)only (4) (a) only

61. AFY HUA/FAA .
(a) WHIRKI® Hafdd e S5t <91 TR o6 S qard, e T fad T8 HUE.
(b) T yErET ‘el S Bva’ e e W
T IW
(1) 97 (a) TR, (b) THA
(2) FT (2) FH, (b) TA
(3) T (a) T (b) TR TR
(4) T (a) T (b) AR THIA
Select the correct sentence/sentences :

(a) When the minister of concerned department gives written answer in house, it is
called a ‘starred question’,

(b} Motion of adjournment is also called as motion of censure.
Answer Options :

(1} Sentence (a) is correct, (b) is incorrect

(2) Sentence (a) is incorrect, (b) is correct

(3) Both the sentences (a} and {b) are correct

(4) Both the sentences (a) and (b) are incorrect
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62. faarm (A): SERATAIE] BHARN TS T8 TOTS VA FH FHEM.
AT (R) : feagay™ TEHNH ¢ TSHRHE Seie Tadd 7eT 1 3R,
Yikide 74 :
(1) (A) 3o (R) Sl e SR S (R) B (A) = T T AR,
(2) (A) N (R) A= FE ARA R (R) § (A) 3 I TR TR
(3) (A) WU AR T (R) THH IR,
(4) (A)THG R 907 (R) SR TR,
Assertion (A) : In Liberal democracy, political parties act as brokers.
Reason (R) :  Interest aggregation is the most important function of a political party
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R} is not a correct explanation to (A)
(3) (A)is true but (R) is false
(4) (A} is false but (R} is true
63. UM Ve Aoy 2012 783 6 Tg fHaafaed.
WIS HIVKT faer s el ?
(a) TR YW FAR - T
(b) X TH AR ~ T
() T=gs ot ®H - Hie
(d) wsfieT wr Teae - FHie
(e) Y forsa $OR - Wi
() WA T - i
T I
Q) mIE (2 GamE @) @AWE @ (@A
India medal tally at London Olympics 2012 Stands at Six.
Which statement amongst the following is not correct ?
(a) Grappler Sushil Kumar - Silver
(b) Shooter Gagan Narang - Silver
(c) Boxer Mary Kom - Bronze
(d) Shutller Saina Nehwal - Bronze
(e) Shooter Vijay Kumar - Bronze
(f) Wrestler Yogerhwar Dutt - Bronze
Answer Options :
1) @andE) () Gand@ (@) @and) @) (2)and ()
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64. UHHTRE WACR WEIE] UF I O
(1) wagR snftr gfafeh aieams) e g9y yenfaa 9% wera TEhm.
(2) TwaER enfor yfafaeh aiwmed gt @9y yeenfid @ e,
(3) T W Hoed yate gt e,
@) wiafaeht Fesvardgyia S 3yos yafaar gater 39,
One of the main defects of the single member constituencies is :
(1} Intimate relationship is not possible between the voter and the representative
(2} Intimate relationship is possible between the voter and the representative

(3) Every region gets adequate representation in the parliament

{4) Peoples choice regarding representative is narrowed

65. TITELUT GREIUT AT, 1986 1 YEI® ARG YRued o Sooesav ST i

{0 SATe.
(1) fasiin-sime 1985 2 f=-the 1980
(3) wRRH-IA 1972 (4) —AH-TLE 1982

Environment Protection Act 1986 was enacted to implement the decisions of following
international Conference :

{1) Bejing - August 1985 (2) Geneva - April 1980
{3) Stockholm - June 1972 (4) New York September 1982

66. TIHIGUH! HIER sAfaed sror fafufayr v fafafaum o9 = ?

(1) ¥H& (2) T fayrmee

(3) HE @) ofe e T

The legislation promulgated by whom, is known as the Delegated legislation ?
(1} Parliament (2) State legislature .

(3}  Judiciary (4) None of the above
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67. R faum Iy T g FaEe
(a) HuLr arawE fofa Somd fadrfyer wiadt § v Tewre wfd AR,
(b) WS FIEN q9T fafay ey StEmye i S gl 98 RwEr ST
T At fadimfisr uftdier o,
T I
(1) < faum T=9F A (b) § (2) =N AFIS FR R,
(2) I TAUE TIF AR A AN PRI Gy AL,
(3) ﬁaﬁ(a)aﬁ%aﬁ
(4) (b) TR .

Read the statements and select the correct option :
(a) The Privileges Committee is an important body, deciding on issues of parhamentary
conduct.

(b) The Privileges Committee has the significant power to follow up matters arising
during question time and the various calling attention motions.

Answet options :

(1) Both the statements are true (b) is the reason for (a)

{2) Both the statements are true but there is no relationship between the two
(3) Statement (a) is incorrect

(4) Statement (b) is incorrect

68. TS feorem el
(a) TSa el U Rrere A AEed S fameai HenETE SITEIE] ST
EECHCH

(b) HI™ e T AT & AT THHUI ST we .

() WeYTRHS varg TA.fRe e i e, €l wiEl #Rar 9% e,

Rk FvE T /faym skt @R ?

W) @) @ Gatie @) @E @) (@) b
Consider the following statements :

(a) The Rajiv Gandhi National Fellowship scheme provides financial assistance to
scheduled caste students for pursuing research studies.

{b) The Human Resource Development Ministry is the nodal agency for implementing
the scheme.

(c) Research studies may lead to M.Phil and Ph.D.
Which of the above statements are true ?

(1) (a) and (b) (2} (b} and (c) () (@ and () {4) (a), (b) and (c)

ol HIATATS! ST /SPACE FOR ROUGH WORK

P.T.O.



TO2

69.

36 A

e WL TffTaT 1986 o YEIoam! HIVeaT e FI0ATT e SRY ?
(a) THo! GrerE faw! (Tl dardl Je8) ST AR TEEG THIaR He 18 TR,
() SufEaren Fou 4 7 7 A% AT FEEA GEAE WEAH “shall” Tast wEEH

“may” ST RO
i I
(1) (2) F TS IR v (b) T (2) (b) F TS TR 90 (2) TR
@) T@F(b) @) (@)

Which one of the following amendments has been made to the Consumer Protection Act

1986 ?

(a) Sale of Spurious goods {but not services) has been brought within the meaning of
unfair trade practices

(b) Section 4 and section 7 of the Act have been amended replacing Government “shall”
by Government “may” inrespect of issue of notification

. Answer Options :

(1) (a) but not (b) {2) (b) but not (a)
(3) Neither (a) nor (b) (4) Both (a) and {b)
70. 180 37¥ YeTA TUN SATHHRAR FONHSA Joawd T Tig ?
(@) WoeId® WEwRT (o) TR e/ wifaa AT
(€ T IS (d) T&m:
T W
1 @ © @ 2) (@, () (0
@ ®) @@ (4) (@) (B) () 3T ()
The 180 degree appraisal means an official should be judged by :
(a} Colleagues in the organization (b} Clients/Citizens governed
(c) His remote senior {d) Own self
Answer Options :
1 @ () @ 2 @, b))
(3) (b)) () 4) (a), (b). (c) and (d)
71. ‘T @ W =it val o' e faur wivl 30 o ?
) oot 4 (2)  wfst T
3) ¥ TSEireEr] (4) TEH IR
“Governor is a bird in golden cage” Who made the comment ?
(1) Vijayalaxmi Pandit (2) Sarojini Naidu
(3) C. Rajgopalachari (4} AX. Ayyar
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72, el S
afett A
(a) <ErEl gfem (i) Ho% J HEHAl
(b <LE. ardt (i) STARE afE
© S 3= (iii) VaEREEAT FEeq
@) <3 Jre (iv) Swifyes anfet

@ (b)) () (d)
L @ @ Gv) (i)
(2) () @v) @) @
@ & (@) @) @)
4 @ @ @) @)

Match the columns :

Channel Feature
(a} D.D. India (i)  Art and Culture
(b} D.D. Bharati () International Channel
(c) D.D. News (iiiy Top in Viewership
(d) D.D. National (iv) Bilingual Channel

(@ (b () (d)
1y @) @ Gv) (i)
2y @ (v) @) @
@) @ @) G Gv)
(4 @@ @ @y (i)
73. TasmT (A): fawfaa g gAem el SaaTe § Wi sraeda it Fugaaiiea Seei
3T,
TWHUT (R) : faerfaa o TARTEER GgE TSl feagadi=n o HH H19.
Wihiaw 9419 :
1) (A) 3107 (R) S8 SWE AR ST (R) § (A) S a0T TILHI0 AR,
(2)  (A) 30 (R) = I T7ed T (R) ® (A) D A T TR
(3) (A) TS &R 901 (R) THiA .
(4) (A) THE R T (R) SH IR,
Assertion (A) : Indeveloping societies, pressure groups exist in a rudimentary and poorly
organized form.

Reason (R} :  In developing societies, well-developed party system takes the function
of interest articulation.

Codes :

{1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R} is not a correct explanation to (A)
(3} (A) is true but (R) is false

(4) (A) is false but (R} is true
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faam (A) TEUH TS TS AE =ie TR oW s S,

TR (R) : STHATGTIET, SEUel Ul & Fegum yfswan TRas o,

ko g

(1) (A) 3T (R) =T AT AR 0 (R) § (A) = Avg TIRIHI 3R,

(2)  (A) 37 (R) S 9de 3TRT TG (R) T (A) = 979 S0 7781

(3) (A) I AR 907 (R) FHH T8

(4) (A)FEME 3R T0 (R) TE 3.

Assertion (A) : Multi-party system is said to be more representative of the society.

Reason (R} : Multi - Party System is the consequence of the electoral process rather
than of the pluralism.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not a correct explanation to (A)
{3) (A)is true but (R) is false

{4) (A) is false but (R) is true

75,

e 3 faurien e %1,

(a) T TREIR § AN U $O AR

(b) IR TREA 71 UL e .

T 90

(1) () TR T (b) T

(2)  (b) T WY (a) TR

(3) 7 (a) T (b)

(4) (a) 4 (b) B! TR

Consider the following two statements :

(a) Pavo cristatus is the national flower of India.
(b) Nucipera gaertn is the national bird of India.
Now state whether

(1) The statement (a} is right but (b) is not

(2) The statement (b) is right but (a) is not

(3) Neither statement (a) is right nor (b)

(4) Both the statements (a) and (b) are right
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76. HoH-23 W T’ a1 FEe 0Y T w0 WO S faen w3
(a) Wi FW
(b) TRRT swAvfows HM FoATE T FHO!
¢y Sfes TeaE
(d) Tafme woRmETET H FIA S @ WATREE =T A 7w,
e faerit fras =3
(1) %3 (a) R AR, (2)  (a) 0 (b) TR LA
3) (a), (b) 3 () & 3. (4) ¥ IR MRA.
Consider the following statements stating the meaning of the concept of ‘Begari’ in
Article 23 :
{a) Forced labour .
(b} To make compulsion to work beyond physical capacity.
{c} Involuntary servitude
(d) To work for a particular master and not to seek employment elsewhere without his
permission
Choose the right combination of correct statements :
(1} (a) alone is correct (2} (a) and (b} are correct
(3)  (a), (b) and (c) are correct (4) all are correct
77. 'O9R @SS TSl yafadhd SENE w9 ;

{a) Rl T
(b) Ol SEERTT

(c) EF MR

(d) ol Al Hehe sqaeeTH

Tt =

(1)  Only (a) (2) () 0T (b)

3)  (a) (b) & () @) (@) (), (©) 3 (@)

“YASHADA' is conducting PG Diplomas in :

(a} Urban Management

(b} Rural Management

(c) Child Labour

(d) Disaster and Crisis Management

Answer Options :

(1) Only () (2) (2)and (b)

(3) () (b and () @) () () (0 and (@)
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78. SIS S AR (=R WL
RS fFUE SR 9 gE W w0 Y aR.
(@ T RE @Y faErds T 39w we
(b) 14 STHAR 1994 TRT ST faamdie AW S aeeRa Tdest TSl faans
U A,
(1) (a) T 3T A (b) =H G HRO AR
(2) (a) TS AR T (b) T I FRT AR
(3) (a) TR (b) T
(4)  (b) T () T

Consider the following two statements. The first makes an assertion and the second gives
the reason therefor.

(a) Swami Ramanand Tirth Marathwada University came into being at Nanded.

(b) From 14th January 1994 Marathwada University Aurangabad was renamed as Dr.
Babasaheb Ambedkar Marathwada University.

Now state whether :

(1) (a) is right and (b) is the reason therefor

(2) (a) is right and (b) is not the reason therefor
(3} () right but not (b)

(4) (b} right but not (a)

79. = At fnan afirmmr ' aeetE S fasdiat ong ?
(1) fosm, nitr, grRfeE um
(2) Tomm, gusit feemon, worEm
(3) fagm, wfvE, Eos
(4) famm, niftrd, S fineo
The Rashtriya Madhyamik Shiksha Abhiyan focuses on which of the following subjects ?
(1) Science, Maths, Regional Language
(2)  Science, English Education, Computers

{3) Science, Maths, Computers
(4) Science, Maths, English Education
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80. WA= Tarear WEER 3AER 1 60 ?
(1) e AN ARG THRHS FagHEl avh e
(2) SR THRITE HA Falq st T fysaoanie i STEde @ HaeH @ B
(3) TRAfa® Fdied AN Sl SHEAR 1 AHRITEN g e,
@) e fodt s eTRa.

What has the Supreme Court recently given to the voters ?

(1) The Supreme Court has empowered the citizens to cast a negative vote

(2} If negative votes are more in number than the maximum any candidate has polled,
that will nullify the elections

(3) Truly the Supreme Court has bestowed upon the people a right to reject

(4) All the three above

81. WIS SATEed Wiod S faum faswg sam,
(a) g TER FHua/ FeR SR i fHesvm #erTs aer &R Al 1 9B IS gaie 9.
(b) STRTH VIR TSS AEE 0= 10% G 3R/ @ 1.7.2013 TREH 90% T IR,

3TI?|TE'I""IT$'T:
1) () S (b) TR (2)  (b) R (a) T
(3)  (a) WY1 (b) ST TR 4) (a) 3P (b) - T E

Consider the following two statements about the Dearness Relief :

(@) Therates of Dearness Relief payable to the Central Government employees/ persioners
are revised every year on 1% July. .

{b) The last rise declared was of 10% raising it to 90% effective from 1.7.2013

Now state whether :

(1) (a) is right (b) is not (2} (b)is right (a) is not

(3) Both (a) and (b} are right (4) Neither (a) nor (b) is right

82. TEIv HUd faum areg o) ?

(a) VST S FAAAT AN SFNETAT, N HETR Yo FSwd FoAdTa HITE St
B TS ¥k g

(b) THE AGHEES THENL 31w Jeoo1 @ea dioaar 4d e

(c) e vaa:foeg WEHER TS Yohd e,

i ; '

(1) % (a) (2) W (b) (@) wH (o) @) =dowd

Which of the following statements is incorrect ?

(a) No person can be convicted for an offence committed before the promulgation of
the Act prohibiltting that offence

(b) No person shall be prosecuted for the same offence more than once
(c) No person can be a witness against himself

Options :
(1) Only (a) (2) Only (b} (3) Only (c) (4) All the above

oAl RIS 9T /SPACE FOR ROUGH WORK

P.T.O.



bk L 1 LA ke A AN A ] e i e om g i _ i avaiet o

TO2 ' 42 A
83. 3N 14 fo T Tof TEIwal! 791 i FOM et fasmerdte foashera o ?

(1)  sifFary == () TTER

(3) <&MQ (4) TEUEA

Which of the following Hindi movie actors has 14 Silver Jubilee movies in succession to his

credit ?

{1) Amitabh Bacchan (2) Raj Kapoor

{3) Dev Anand (4) Rajesh Khanna

84, I S, YA T (AR Fhay) afafam, 1989 siaia wrsa s e s

MR ?
(1) waTdacge (2) WA IS
(3) wHIT 4) TERS

What is the maximum punishment under the Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act, 1989 ?

(1)  Five years and fine (2) Seven years and fine
{3} Life imprisonment (4) Death

85. WA TLYH V[ HIVT Hromy! qaiq FH g/
(1) =l gdveet TUFEeH (2) o FRRgE
@) ot =@ R (4) <. FFEA TS AR
Who had the shortest tenure as the President of India ?

(1) Dr. Sarvapalli Radhakrishnan (2} Dr. Zakin Hussain
" (3) Shri. V.V. Giri (4) Dr. Fakhruddin Ali Ahmed

86. Yero faumian fa=m =
(1) 3rfies Hefarendqor § SHEE TR R
(2) SAfY FRESRTUN W SRR RO 3T
(3) ATHM WHTHTH ¥ STEHA oY Yeed R0 G
(4) onfeie W @ SIHEN @ A G seela YA S e T W T IR,
Tiots! Biv fAaE I 3Tg ?
Consider the following statements :
(1)  The high level of indebtedness is the cause of poverty
{(2)  The high level of indebtedness is the effect of poverty
(3) Unequal resources is not the major cause for unequal incomes
(4) The failure at both the fronts promotion of economic growth and population control

perpetuated the cycle of poverty
Which of the above statements is incorrect ?
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87. higdie EHMHIIURIA Afeeia GR&TT et 2005 Ted rqur=n i safafaa swrdty €< faum
Hfgd= TIAT HIve FEHTTY @G difed Afeed THR HEl 4 ?
(1y 332 (2) 337-d (3} 353 (4) 498-3H
Besides complaint under the Protection of Women from Domestic Violence Act, 2005 the

victim woman also has the right to file a complaint under which section of the Indian
Penal Code ?

1) 332 (2) 337-B (3) 353 (4) 498 -A
88. WRFERTE frd sifufram 1923 =1 (Eie Hodin 979 Siedl I,

(@) TauEci i wed 11

(b) ¥daRE (i) o4 15

(c) T FIS T (ili)y w@F 9

(dy =R e (ivy @9 3

TgiE} ST

(@ (b) () (d)
@ @) @ (v
(2) (@D, (i) (@) ()
Gy (v) & @) (i)
(4) @) @ @ @)
Match the following sections of the Official Secrets Act, 1923 :

(a) Incitements (i) Section 11
(b} Search warrants (ii) Section 15
(c) Offences by companies (iii) Section 9
(d) Penalty for spying {(iv) Section 3

Answer options :
@ (b} (o) ()
(L @) @) @ ()
(2) (i), () (@) (0
Gy vy @ () ()
4y () @ @) (i)
89. ‘FITR HIN’ e WiS@UH! SR faam e 3R ?
(1) Taftsem fFam uw sifEyE AR 39 =0,
2) Ha3 S=d AeaT™ WeUlS A A 7EE.
(3) WE A DRG] JHIVIR YR FE.
(4) TSATSATAS SR Seaiar TR e’ fody g,
Which of the following statements regarding ‘Nagpur Pact’ is incorrect ?
{1) Atleast one session of Legislature should be held of Nagpur.
(2) Bench of Bombay High Court should be at Nagpur.

(3) Recruitment in Government service should be proportionate to population.
{4) The Congress leaders from Marathwada opposed the “Nagpur Pact’.
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VTR BITR GaITE] T FI] Toaed 594 3 ?
(a) WEAMYF TBID (b) OrEfEaaE J@aw
() EUR Hoas (d) EM I@9w
e TaTETiS 4 1 e

(D) (a) 3 (b) () (b) S () () (o sfor (d) (@) (a) & (o)
Peasants and Workers party’s roots are found in which of the following
movements ?

(a) Satyashodhak Movement (b) Lokhitwadi Movement

(¢) Non - Brahmin Movement {d) Bhoodan Movement

Choose the correct option :

(1) (a) and (b} {2) (b) and (c) (3) () and (d) (4) (a)and {c)

91.

RATE HiqErr= Feq 356 =1 fawdt sw aRfaee som 9 oed.  Eeie] R
forelt =1 o oy Swead @ faReg 3t 2

(1) TSIRAR 9T ey

(2) T anfder sreitaed tfues W

(3) THME T TS BRL F.

(4) FfmLn g

Article 356 of the Constitution has generated lots of debate because it deals with :

(1) Inter - State Water Disputes

(2) Greater autonomy for states in financial matters

(3) Declaration of President’s rule in a state
(4) Status of Kashmir

92.

faum (A) : T ENY G AT TREa s S

H/ROT (B):  Toay Bihiven Teag wfafiae w.

(1) (A) 3T (B) SR 31RA. (B) ® (A) 9 SR TR 3R,

(2} (A) SfY (B) SRS 3. T (B) § (A) I TILEIT L.

(3) (A) IS AR T (B) [k T,

(4) (A) I 3T UUT (B) SR 3L,

Statement (A) : India’s council of state is indirectly elected.

Reason (B) : Council of states represents the state rather than the population :
(1) (A) and (B) are true. (B} is correct explanation of (A)

{2) (A) and (B) are true. (B) is not the explanation of (A)

(3} (A)is true. But (B) is false.
(4) (A)is false but (B) is true.
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93. SR MUY T I SR ®S ol o8 Wk Iewian (HFT=T) §HF 1950-51 =
St = 55.4% WEA 2008-09 HEA 16.9% THd AN Agwal. WiHfAE SEhme @A
TR < FE, F1 F A Haw HY oo 7
(1) =% 9 I SAER Aoy Ak WUat T F9 891 FUeEr Iawn,

(2) T TOBYE T WU TET FH 9 I HaHEE Frea™ Il

() T AU T WU U5 T 9 94 &9 Fued a3,

(4) FU, 91§ Ao SAIEEE fraftd wEeE s

If we consider broad trends in distribution of national income the share of the primary

sector has declined from 55.4 percent of GDP in 1950-51 to 16.9° percent in 2008 -09.

How did the three components of the primary sector : agriculture, forestry and fishery

behave during the period ?

(1) Rapid fall in the share of agriculture; the forestry and fishery remaining nearly
constant

(2) Rapid fall in the share of agriculture and fishery; forestry remaining nearly constant

(3) Rapid fall in the share of agriculture and forestry; fishery remaining nearly constant

(4) Steady fall in the share of all the three agriculture, forestry and fishery

94, Siem T
‘3T’ l-ﬂd
{a) MIDA {H 1972
(b) YASHADA (i) 1982
(c) LBSNAA (iif) 1959
d) NAA (iv) 1990

(@ (b)) (g (d)
1 O 6y @ (@)
@ @) @ @ ()
@)y (i) Gv) Gib) @)
@ @ @ O @
Match the Pairs :

A B

(a) MIDA @ 1972
(b) YASHADA (i) 1982
(c) LBSNAA (i) 1959
(d) NAA (iv) 1990

@ & © @
M 6 G @
@ @ @ O
G) @) (v @)
@) @ @ O G
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. 95, W @A (public employment) STTHTH HRA T4 T4 THG AR TIOIBUHT 101! o
faum g 3ea ?

(a) HHG FRIT H& A 1ok AhAIhe, TERIT WA ST haenad Y9 anie Sora s
R RICTE

(b) T U AR Toardte Qs dadie Aeaadl e e deame o s
% T I,

(c) TGRS HITHERTE 1<, SHi1 Wreeiae doa Q@ Ffaf o =, e wesritwian oerm
I 3.

(d) Emen fafire auidie yEEr ugr ST FHIE 50 79 ST SN ST qgtens
wrgei=n auld Raa feoear smfia st fa=mm s s,

1) (@ ® (2) (@, () (@) @ b (0 4 ()

Which of the following statements are true with respect to public employment under the
Constitution of India ?

(a) Parliament may make a law prescribing any requirement as to the residence within
the state or union territory as a precondition for public employment in a particular
state or union territory.

(b) Any State Government in India can make a law providing for requirement as to the
residence within the state for the public employment under its authority.

(¢) Reservation in promotion may be made in favour of any backward classes of citizens
not adequately represented in the services under the state.

(d) Backlog in reservations from the previous year needs to be considered together with
the reserved vacancies of the year in which they are being filled up for determining
the 50% ceiling on reservation seats of that year.

(1) {a) (b) 2) (@) 3) (@), () (o) (d) 4) (a)

e HIWMTS W /SPACE FOR ROUGH WORK

Eenb - R e R T TR . e e e gt ey pe emaied . R . .
A T AN ARI O R It e - st e A SR



A 47 TO2

96. SHURATEE (GurRen) sfafaa 2009 18K : _
(a) ‘TR die’ 2 freed AagrTen Yeeen foaurnn 9= feawHar v wRar A,
(b) TEEUF FAERM THE wowd TER s19al o T FHAEAT YR SR

AT 3T TS 3918,
T Tarf IW Free
(1) (a) 30T (b) St I (2) (a) SO (b) <t =
(3) W& (a) T (4) TRE (b) T

The Representation of Peoples (Amendment) Act, 2009 states :

{a) That results of Exit PPolls should be declared only after five days from the last polling
day.

(b That all officials, whether in government service or not, appointed by Election
Commission are brought within the scope of corrupt practice.

Choose the correct option :

{1) Both (a) and (b} are true (2) Both (a) and (b) are false

(3) Only (a) is true (4) Only (b} is true

97, WIHAGIHR HIVE 74 =1 TSN gEEIH! e aRT ?
(a) OTHIIET, BIHME TTohaleh Ul AHLHIS HT0L.
(b) AT HATSITER HEWHT i
(c) AP TR e 7 fawy aeedl gta e
(d) T Tenfer HeeieR Uow e gt faa geeanfia ol
() PRI Tenfrer ween enfiiThgeest W q w@EqYl Fafa:
i@t Hv IR SRS 3 2
(1) (), b) 9 2 @ «© W@ @) (@), (b) (¢ 4 (@), () ) (e

Which of the following are the objectives of 74'h Constitutional Amendment ?
(a} To strengthen the Democracy and Democratic decentralisation

(b) To increase the participation of Civil society

{c) To include the subject of Urban Local Government into the concurrent list
(d) To bring local governments under the control of State Government

() To empower them economically and make them self reliant

Which of the objectives given above are correct ?

1) (@, b) (0 (2) (@) () (d) 3) @ 0) @ (4) (@) (b), (d), (e}
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faior 23 TedsR 1993 Vst e Fean ioew wit 9 faem 99 (o TRa Tmowie
TN ) QIASRAT 6= GaaH 8509 e (ws/ T waiid e rere FiearE s, 9@
eI Ty foam &3 :

(a) T TF G AISHT ST,

(b) ST & AN GE FA N St Tedh WIHCRIFAGT 5. 5 o Wy Jah 17 g,

(c) ST § TWHRH Tl WK %. 5 T AR,

(d) W lapsable fft=a Frew swmia feeas s fHeea =T amnar frs.

(e) Toiemt wenEd <fiser feao 3aw.

(f) THAERW U5 R0 Fog! w YA THA

(g) Tria TRv mrew fAmio soamer ) owa

(h) TEER SIS TEE Yaun 8 Fesien ST SR i Fo9 THhaw,

FtioiH FE faum gEe
gaiEy I ;
(1) (a) 3nfor (@) (2} " (e) (3) ®H (f) (4) w (h)

Consider the following statements about the Member of Parliament Local Area
Development scheme launched on 237 December 1993 to enable members of Parliament
to recommend works based on locally felt needs in their constituencies.

{a) Itis a non - plan scheme

(b) When launched an amount of Rs 5 Lakh per MP was allotted

(c) Now the amount per MP is Rs 5 crore

(d) The funds are released on lapsable basis

{e}  The monitoring is done by District Authorities

(f) Nominated members can recommend works any where in the country

(g) Creation of durable assets is given priority

(h) MP can recommend community infrastructure and public utility building works
Which statements amongst the above are incorrect ?

Answer Options :
(1) (a) and (d) (2) only (e} (3) only (f) (4) only (h)

99.

formaien wREEd IEie S ([SHH gt 1R ?

(1) dfee wmread fomi= T e 79 39,

(2) WRIEETER ot Fet fowl | g

(3) HTE g WU feria sy R Mo

(4) FrEn fAMeEE 9@ A SR FEen WA 950 TSl

Which of the following statements about the Womens Position is incorrect ?

(1) In Vedic Period women enjoyed higher position than men

(2) Matriarchal system existed in some areas

(3) Restrictions were imposed on women as an impact of Manu Smruti

{4) As the concept of division of labour got accepted the position of women changed

FHoeaT FIEIEG WA /SPACE FOR ROUGH WORK
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100. HEFTRUTGHE AHarE o Ufegs wW = wH Sl ¢

(a) T 9 G TereiEl Tl

(b) TR T TETAN T A< WA FO

(c) IHRm F frimh

(d) st et | w0

(e) TUETEH! Hell ST 0!

(f) TR LA @ WS Teddgi=] IHRON o ot

i W

1) (a) - AFFEHE, (b) - Wesh, () - Beo, (d) - A, (e) - oo (f) - A

(2)
)
(4)

(a) - &A@, (b) - W=, (¢) - @AM, (d) - =, (o) - A, (f) - sifFEr
(a) - T, (b) - U, () - FEd, (d) - I, (e) - FfEE, (f) - Wms
(a) - U5, (b) - AT, (c) - W, (d) - U=, (e) - U, (f) - erfm

Identify the sequence of obligatory and optional functions of Municipal Corporation.

a)
b)

(
(
(c
(
(

St

d)
e)
()

Cleaning of Roads and Public Places

To provide facilities of Gardens and Swimming pools
Tree plantation and play grounds

To provide facilities of primary education

To provide the facilities of Ambulances

Drainage system and construction and maintenance of the public toilets

Answer Options :

(1)

@)

(3)

4)

(a) - obligatory, (b) - optional, (c) - optional, (d) - obligatory, (e) -optional,
(f) - obligatory

(a) - obligatory, (b) - optional, {c)- obligatory, (d) - optional, (e) - obligatory,
(f) - obligatory,

{a) - optional, (b) - optional, (c) - obligatory, (d) - obligatory, (e} - obligatory,
(f) -optional

(a) - optional, (b} - obligatory, (¢) - optional, (d} - optional, (e) - optional,
(f) - obligatory
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101. GEA@IHT KIVE fTM IRAT 59 TS WIQTHR FIVART HaHG FI0ITEAT TG F VAT

41, TR FHO=H1 O SR S8 B 37 ?

(a) RIVIATE SO, Hdl, SATIR HIOARAT] TFRSHS Fara el stean sHaanas g
SR Afer FRoar AHHR T §Ee AR,

(b) T TEATET @R T TERT A9R 399 {0 366 T HI0ATgA Ao dfam
YAl A0 AHFR T e,

(c) TN HIVHIE SYT BEE HET TR SIEdl T3

(d) 3T SYY YR SRYIGRE Rl AT,

T W

(1) (@), () (2) () (d) 3 (@, (b (0 4) (@), (b), (0 ()

Which of the following statements are true regarding a fundamental right to practices

any profession or to carry on any occupation, business or trade by any citizen ?

{a) State may make a law making it obligatory that a citizen should possess appropriate
professional or technical qualifications for practising any profession or carry on any
occupation, trade or business.

(b}  Citizen can be restricted to carry on any trade, business or service if it is being practised
by a corporation owned by the state

(¢) These restrictions can be put by the state only by making a law

(d} The restrictions can be imposed by the State by an administrative order as well.

Answer Options :

1 (@) ®) (2} (o) () (3) (@) () (© 4) (@), () (0, (d)

102. e g eAfufrm, 2009 Yeam wee faum Tet snfor arg gafa faer
(a) TS YO At [eomar gevd g9 Hig FY g1 AufEa geadl,
(o) Toraro & aMeTERS Mo TAHATE gHiw I,
(c) =i WemdE @ <O .

‘Tiﬁ'zﬁ ET'I:{ :
(1) (a) ST (b) TR 378 (2) Ed (b) SRR 3R
(3} (a) 3 () SR A=A (4) (b) ST (c) SRR 3T

Consider the following statements regarding the Right to Education Act, 2009 and choose
the correct option given below :

(a) It implies that every child has a right to secondary education.

{b) Education should be of satisfactory and equitable quality.

(c) It can be imparted in informal schools as well

Answer Options :

(1) (a) and (b) are true (2) only (b) is true

(3) (a} and (c) are true (4) (b) and (c) are true
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103. TRNE 9 W€ SAMeR oia Wd o G 8 digial §R 3w < ol 2
(1) foat g (2) wTEE! W (3) et deT (4) <o Al
The emphasis on growing public sector with massive investments in basic and heavy
industries continued till :
(1} Third Plan (2) Fifth Plan (3) Eighth Plan {(4) Tenth Plan
104, EFE faum a=F srgs Taf e
Taefl Haear TR FOw AYE FA FHEN FRO 3d FidaUTeTs WEaga agaun fHeTs
T 1975 WA WG FRIYe T F0ANE] AEvEERdl Tt foil. ST SerwRens avi wIm
YT S 1 ?
(1) fadfivee=t afeaa (2) ofas fadiag
(3) SR HERE Hisha (4) TSI Wiwad
Read the statement and select the correct option.
In May 1975, the opposition persuaded the speaker to withdraw a Bill aimed at extending
preventive detention because the Ministry of Law had drafted it poorly. Such incidences
are considered as :
(1) Legislative activism (2) Excessive legalism
(3} Executive activism (4) Administrative activism -
105. G faum el :

(a) TRIEISHT WA ST 1 Yiec Ghel ¥Iog STRINT U STfgaid WA STe 378,

(b) T TANE WA A1 STEHE S AT SR I JvAGT 600 T ToT HFS AR S
.

T WM &

(1) (a) SATEe SIRET A S

Q) (b) IfaF ST AT AR

(3) e Sl WG W I

4) RIRE four o HEIERE TR

Consider the following statements :

{a) Theword Assam as per some is derived from Sanskrit word Asoma meaning peerless
or unparalleled

(b) Some others say the term has come form Ahoms who ruled the land for about six
hundred years prior to its annexation by the British.
Now state whether :

(1} (a) is more widely accepted

(2}  (b) is more widely accepted

(3} Both are equally acceptable
(4) Neither of the statements is acceptable

THoAT WIS ST /SPACE FOR ROUGH WORK

P.T.O.



Wzl G s AT A AR D

TO2

106,

52 A

TOH TSR AHA[: ToAEe= AT SRR TR a0 34, QISSIHhT B
SARTHR TR [& S RIS T AV BRI T R 2
v gy fere

(a) Fo9 14 (b) Fou 15 (1)
) wom 15 (2) (d) wou 16
(e) FoH 17 6 w22 (1)
(g =ou 23

o I

(1) (@ () (© (2) (b), (d), (& (3 © () @& 4 (e B (8
The Fundamental Rights primarily protect individuals from arbitrary state action. Which
one of the following goes beyond and protects individual against the action of other private
citizens ? Select the correct option :

(a) Article 14 (b) Article 15 (1)
(c) Atticle 15 (2) (d) Article 16
() Article 17 (f) Article 22 (1)
(g) Article 23

Answer Options :

1) (@) b) © 2} () @) 6 3) (@ () @) 4) (o) ) (g)

107.

TRYRES=N TETE Atgiile Fafasm e FRal € (Sas)) Fqras] oot Hio gt

TohToAT TR ?

(2) Teidta Ateidie 25% & FH THSEAT AT HAENiAT IS FHe diest,

(b) TEE A BEA AUIF I IR Yo AAhgT HA SR,

(c) TSETamHmI= ARATTHR TC Ha<H Hdes W,

(d) R Wefesm= AW I H0Er N HaqH AeaY a9 SRy feeiasrl i,

i S

(1) (a) &K (2) (o) ®H

(3) (c) 3nfon (d) (@) o I wHE TR

Which of the following provisions for cancellation of sales permit of liquor in some ward

of the Municipal Council is /are NOT correct ?

(a) Not less than 25% women voters from same ward have to apply

(b) This application is scrutinised by the Superintendent, State Excise

{c) Secret voting is conducted by the order of District Collector

(d) I the majority vote is in favour of cancellation of sales permit of liquor, the District
Collector gives such an order '

Answer Options :

(1) (a) only (2)  (b) only
(3) (c) and (d) (4} None of the above
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108. et yeret i WA wivren a4t e ?

(1) 1772 (2) 1858 (3) 1861 (4) 1907

Name the year when the institution of Collector was created in India ?

(1) 1772 . (2) 1858 (3) 1861 (4) 1907

109. frdedt T fafas aifaad moe Weugl ol fafireyd 22 s Ted g =i seR
T Ted R
(a) U HH fsPeun® e 3rg yad
(b) T AgE AFANE HETFA g Thd

9o 39 faumits! o SRIsE 3R/ 1R ?
(1) 93 (a) (2) %a% (b)
(3) (@) () 4y = (a), (b)

A curious characteristic of cricket is that the length of the pitch is specified 22 yards but
the size or shape of the ground is not :

(a) Grounds can be circular as in Adelade

(b} Grounds can be oval as in Chepauk

Which of the above two statements are/is correct ?

(1) Only (a) (2) Only (b)

(3) Neither (a) or (b) (4) Both (a), (b}

110, TR §d Fga, T it 5 i gresie &8 ¥ Al s 99 @i .
T 1980 1 2012 =1 T, UHVT WY@ g Tadines 9 Yo fhdl gawr g ?

(a) w9 pga (b) STl WiftrR & (c) TEwF &
(1) 40% 30% 30%
2 30% 20% 50%
3) 75% 15% 10%
() 50% 20% 30%

Domestic Savings come from three sources, viz. households, the private corporate sector
and the public sector in India.

Between 1980 to 2012 nearly how much did each one of them contribute to the gross
domestic savings ?

(a) Households (b) Private Corporate (c) Public Sector

(1) 40% 30% 30%
(2) 30% 20% - 50%
(3) 75% 15% 10%
(4) 50% 20% 30%
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111. &% HIA faum qEta o7 ?

(1) ST e SgHauIFT aieed Hals AEed Sl FF 9.

(2) SHrgTH= SRRy SeTavIFal JaiEedls Tgydtar fuig oifim e,

(3) STrEwT= Mg e Sea™ H¥m Suvdd FOS Fasd RN B TR,

(4) STETA =N MagUmHa HRAR a6 R Gt faumm s6H 1t gae"
HT .

Which of the following statements is incorrect ?

(1)  The Supreme Court inquires into the matters arising out of election of a Vice President

(2}  The decision of the President in the matters arising out of election of a Vice President
is final

(3} If election of a Vice President is declared void acts done by incumbent until such a
declaration do not get invalidated

(4) Parliament can regulate any matter connected with the election of a Vice President
subject to provisions of the constitution

112. SRS el Wi wiavy feseom=ai a e g faeiy I gty foot .
Iereony Sffeltyas qed gavl, T 9 S8 U6 Hesani=FiT €. 50 9fE o %. 30 9@ 9 %. 20 oG
A {3 am.

AT TEie faurt 1at
(a) TaeiE Trepeas et 240 feaw wfoem we Nemw oo 1 sream yfnseew 39
Tt fed .

(b) TEs T Tadem fiemar W= 25% WHH TR et wm.

A I

(1) () "R TR (b) = TR (2)  (b) ST 3R (a) FUF TE

(3) S TR IR (4) RIVGET ISR RS

Special Cagh awards are given to winners in International Sports events and their coaches

for example for winning Gold Silver and Bronze Medal in Olympics Rs 50 lakhs,
Rs 30 lakhs and Rs 20 lakhs respectively are given to the winners :

Now consider the following :

{a) Cash awards are given to coaches who have trained the medal winners for atleast
240 days immediately preceding the tournament

(b} Award money to a coach is 25% of the award money given to the sports person

coached
Answer Options :
(1) (a)is right (b) is not (2) (b)is right (a) is not
(3) both are right (4) neither is right

THel HIHTETS! W /SPACE FOR ROUGH WORK
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113, T fafiTe Yo wdcr=a SHoaaauiae! {IF SIS ST qdied aaeagers 138 Harsaiar
TOVA HIAT W AU AT Hel Al 2

ity
2
3
4)

AFuAr g 0 i e ATey § W, UL 9 Wiig Ay STE S,
VRANTE F7aaEs QS ST g9 aeie ST,

Sofife wiaus B ST R YR H.

61 14 FANETIE SToHE (AT el ITT wEA Q.

The Verma Committee on Fundamental Duties has cited as many as 138 Supreme Court
cases that facilitate the enforcement of a particular fundamental duty. Which Fundamental
Duty from among the following has been referred to by the Committee in this context ?

(1)

(3)
(4)

To abide by the Constitution and respect its ideals and institutions the National Flag
and the National Anthem.

To promote harmony and the spirit of common brotherhood amongst all the people
of India.

To protect and improve the natural environment.

To provide opportunities of education to child between the age of 6 and 14 years.

114, FH faum aET @R ?

(1)
(2)
(3)
@)

weit ot 12 Gar efeek ol witdTeF fodt W A,

vt =it 5 e stfaen e MR G S A
vt st 3 ve sften Qo= giitdite fedt s AR
@ THEl At

Which statement is correct ?

1)
(2)
(3)
(4)

Not more than 12 Arjuna awards are given every year
Not more than 5 Dhyanchand awards are given every year
Not more than 3 Dronacharya awards are given every year

None of the above
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P.T.O.



TO2

115.

56 A

TrE@E!T R faE SET o ?

(a) TR JFEF 7 AeHGHR WIS, Nfw enftr Sl ferdran svamg wwamEEt
HE g,

(b) T o W G T ASoqTa1 TR K.

(c) TRWYA W< Herot darfors g & ifes gie foumils emmear I o=,

TR ST

1) @ G (@) 2) () (@) (3) () T (b) @ () #f ()

Which of the following are true ?

(a) Sachar Committee was established to study social, economic and educational status
of minority communities.

{b) There is a proposal to link Madrassas with the National Institute for Open Schooling

{c}  Aligarh Muslim University recognises qualifications from Madrassas for the purpose
of enrolment.

Answer Options :
(1) (@, (b)and () (2) (c)and (@) (3) (a)and () (4} (b)and ()

116.

T AiAHeanie T Teesd Qo faqH fa=md =1

(a) 91 AT FEATE = AGEITER W= SEIa HAfQ .

(b) faurasen THEY QuRR eI 15% S&T SR THrE!

(c) fafadesr=a S TvrmEi=n T 9 He=ar 15% T8 S THE!
(d) TETASIEE 12 Qe HHT THTEl.

(e) TEAH=AIIEN 12 Y& FH THwEl.

Tt Fow) faem e e ?

1) (@) (b}, (d) 2) (o) (@) @) () (e) 4) @ © @

Consider the following statements regarding the number of Ministers in the State Council

of Minjsters :

(@) The 91 st Constitutional Amendment makes a provision of ceiling on the number of
Ministers

(b)  Shall not exceed 15% of the total number of members of the Legislative Assembly

(c) Shall not exceed 15% of the total number of members of both the Houses of the
Legislature

(d) It shall not be less than 12 including the Chief Minister

(e) It shall not be less than 12 excluding the Chief Minister

Which of the statements given above are not correct ?

1) (@ (), d) (2) (9 @) 3 (@ (e @ (@ () @

ol FIUATS | /SPACE FOR ROUGH WORK
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117. @oe fagm va .

() T 99 T TS (Heeavarard!, fasum SRR, Fearen seisiets, 2005 T A
TH 31 TP, SUEN TERN 9 ®Hq FH IR TCHASE [HEwd 9 /E Al
forezraen &,

(b) T FH § TSAHEE, TR AT 4% 74 feren e, oret emdiet e .

47 7aty fraer

1) () SR I @) (b) e IR

(3} (a) ST (b) St S SR (4)  (a) 3T (b) EE TR A1E@

Consider the following statements :

(a) In addition to existing conditions, the Election Commission in 2005 introduced one
more condition that a party has to be recognised as state party in a minimum of four
states to be eligible for the National Party status.

{b) The earlier norm was to secure 4% of total votes polled in a minimum of 8 states.
Choose the correct option :

(1) (a) is true (2y (b)istrue
{3) Both (a) and (b} are true {4) Both {(a) and (b) are false

118, Elw e faumi faem =
(a) Tawa: fohdhe 9T R TR BT 1 ST HTa! Sl e - Tl STetedl ANt JEoe.
(b) STHT STHR T HA T 1 dg WG FhHe el T I AHR Feoarsien 9g

TFEIS AT gL
ST EIT T
(1) (a) ST TG (b) T (2} (b) TR T (a) TR
(3) ! TH FUE T 4) T 9EE e

Consider the following two statements :

{a) Initially the cricket bat was roughly of the same shape as a hockey stick curving
outwards at the bottom

(b} That was so because the ball was bowled underarm and such a shape gave batsman
the best chance of hitting the ball

Now state whether :
(1)  (a) is right, (b) is not (2) (b} is right, {a) is not
(3} Neither (a) nor (b} is right (4} both are correct

THoET HIHEG ST /SPACE FOR ROUGH WORK
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119. frafe swirm=R W@ anfn wrf ardte et T faammE fEr s
(a) HE Taiad SIS 9ol Siaed [HEed a%g e,
(b) HlTHSET=N FeedTTHR Fadl HATT T Id S JSTHT A=Al SMYRIER e fogaat
B Tehd.
(c) VRS fasT® Syt Fean Suf upa) STeiered Se-d aiqa! e
(d) e Sivareandts SHarard gt st Jensreisrem 7 woar AfaFR s

&
SRR I A S 1
(1) FISB (a) IS 3% (2) (a) 31T (b) SR 37RA

(3)  (a), (b) 3T (c) TR A, (4) W em%a.

Consider the following statements about the flaws in the composition and working of the

Election Commission :

(a) Constitution is silent about the qualifications of the Chief Election Commissioner.

(b) The President while acting on the advice of Council of Ministers may appoint a
person on the basis of political considerations.

(c) The Constitution is silent about the number and qualifications of Regional Election
Commissioners.

(d) Commission has no right to recruit and regulate the conditions of service of its
secretarial staff.

Choose the right combination of correct statements :

(1) (a) alone correct {2) (a) and (b} are correct

(3} (a), (b} and (c} are correct (4) All are correct

120. Tfedt daaM AfHTEE 2000 =0 TGS oo HOM TER] I 396 T @SR

(@) o F9Al STEEER SEE o e u S,

(b) T FUAE AU AN FHEN FHSCH FR 1 TEHS o FS T el
SRR 3@ ° ey e e,

() T HUH HAEE HAN TAERR IS AR THIGAA! (SO HHeA™ o FAEER
3t 9 e s oTde,

(1) (a) 37T (b) (2) (2 3T () 3) () & (o) 4 (@), (b) ¥ (c)

If a person committing a contravention of any of the provisions of the Information

Technology Act 2000 is a Company then :

(a} The Company shall be guilty of the contravention and shall be liable to be proceeded
against the punished accordingly.

{b) If the contravention is attributable to neglect on the part of the person responsible
for conduct of business of the company he shall be liable to be proceeded against
and punished accordingly

(¢} If a person responsible for conduct of business of the Company has by sufferance
allowed the act of contravention he shall be liable to be proceeded against and
punished accordingly

(1) (a) and (b) @) (@ and (0 (3} (b} and (c) 4) () (b} and (c)
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121. Higymre TR IRATET AR Svarndl IV 312 STeRa Ted! 7
(1) uram Afyerg s
(2) WRAE S fehell
(3) AR o foai=T YA S e
(4) I IRE! e 5 9 Raa T fars

At the commencement of the constitution what condition was not neccesary to be a citizen
of India ?

(1) Domicile of India and
(2) Born in India or
(3) Whose parents were born in India or

(4) Ordinarily resident of India for not less than 5 years immediately preceding such
commencement

122. GAIGUS! IR AT YRS TR TonfTer Heen Tt ?

(1) TR Wie ) §u (FE)

(3) fugfaq & qftd (4) TR &7 wihd

Which of the following is NOT an Urban Local Institution in India ?
(1) Municipal Corporation (2) The Commune

(3) Notified Area Committee (4} Town Area Committee

123. vaTad IeATEE s A ST o AR WS A farard =
(1) Hafea de= 9w st vHam.
(2) HEATA TR WG, HRIHHE! TIH 7 TR FL0ATE AT AR AR,
(3) e SR AR Yok FEAT T il e FH HE YA,
(4) A TR O FRH G oo AN 9 HEEE SUd Tl HE HA W & &
AT
Tt HUR faum i % ?
Consider the following statements regarding powers of Divisional Commissioner about
Panchayat Raj :

(1) He can call the meeting of concerned institutions.

(2) He has the authority to check and verify the programmes and immovable property
of concerned institution

(3) If the strength of officers and staff is more than required” he has right to reduce it

(4) He can suspend the improper, illegal resolution passed by PR institutions, but can’t
cancel it

Which of the statements given above is incorrect ?
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60 A
YRR Yfasy sifaﬁw, 1988 =1 %o 31 G FHEATE T 161 T 165-31 (Srd
qufas) TEvEE AR,
(1) Porrd yhean e, 1973 (2) YRAE qET wEE, 1872

(3) 9 s faum wig, 1860 (4) feamit wfwn iz, 1908

As per section 31 of Prevention of Corruption Act, 1988, the sections 161 to 165 -A (both
inclusive) of . were omitted.

(1} CrP.C, 1973 (2} Indian Evidence Act, 1872
(3} Indian Penal Code, 1860 (4} Code of Civil Procedure, 1908

125,

FIaa ST, STYEa Sl (FEER yfde) Sifafrem, 1989 TOR Wroteta v, WeeiTen
22 SMHRE T 7

(1) &% §&R (2) T B&EHR

(3) T TETeT we (4) =™

Under S.C,, 5.T. (Prevention of Atrocities) Act, 1989, who amongst the following is
empowered to impose collective fine ?

{1) Central government (2) State government

{3) Local Self government (4) Panchayat

126. TOSTH! Fow/d fFum /3 THET R/ Irde ?

() 'YW wUR WENE! Wi a9 Jvasta feow i,

(by ‘Ue <’ VS YR Teq: = Qo wiag) fredt =vE ffow 99

TR W

(1) & (a) (2) %K (b) (3) (a) 3 (b) TE (4) SR THE! AR
Which of the following statements are true ?

{a} ‘Paid News’, means money paid by a non-governmental organisation for a news
getting published

(b) ‘Paid News’ is money paid by government to disseminate information about its
policies

Answer Options :
(1) Only (@ (2) Onlv (b} (3) Both (a) and (b) (4) None
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127, IF9 FEE/ T S 5%

3

(a) YHE TE HOH 141 9 145 WEd Ugen TRT=AT e TG o7
(b) AR AT AT LA TSHTHTS ARG TR T T o Had STHa.
it I

(1) e (a) SR, (b) TH

(2) FU (2) THM, (b) TET

(3) HUA (a) T (b) AR TR

(4) F (2) 3 (b) I TH

Select the correct sentence/sentences :

{a) Articles 141 to 145 of the Indian Constitution State about the Auditor General.

(b} Status and tenure of the Auditor General is similar to the justice of Supreme Court.
Answer Options : '

(1) Sentence (a) is correct (b) is incorrect

(2} Sentence (a) is incorrect (b} is correct

{3) Both sentences (a) and (b) are correct

(4) Both sentences (a) and (b) are incorrect

128. WISe fayM = 9y @1 gaiarE fae 4 -
M 1919 = HfHFER 2118 Y@ YA G5e@ A Tad! o1 SvEn e,
() 1919 = FfufrmER it enfn fag @ wiarst it wwam s,
(ID) 1919 =N sfafEaER Herd 2l wida faaas afawr aefa Huan T,
(IV) WA e @R SO 3R 1919 =1 Afufee e s g sroael et
TR S
(1) 9= faum (1) IR 3T (2) Taum (1) 9% a9,
@) fagm @) 9% o, @) faum (1v) 9% .
Read the following statements and choose the correct option :
(I}  The Act of 1919 introduced the system of dyarchy in eight major provinces.

(I} The Act of 1919 created the provinces of Orissa and Sind

(IIT) The Act of 1919 carried out detailed classification of subjects into central and
provincial

(IV) The Act of 1919 was dismal failure in introducing federalism in India
Answer options :

(1) Only statement (I} is correct (2) Statement (IT) is incorrect

(3) Statement (III) is incorrect (4) Statement (IV) is incorrect
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129.

62 A

‘e ITErEE anftr Eve arfafrEm, 2003 TER #vid! @i faa deRa Tt et
BITA ?

(@) uHF fod faeu

(b) Tyo-wfiEw e faaw

(c) HEI FAYT TSRS YR faavo

(d) TSIHINT R0 e fqave

T} I
1) (@), (b) 1 () (2) (), (b) 30T (d)
(3) (b, (c) 3T (d) @) (a), () ¥ (d)

Which three statements have to be presented in the parliament as per the requirement of
the ‘Fiscal Responsibility and Management Act, 2003 ?

(a) The Consolidated Financial Statement

(b} The Macro - Economic Framework Statement

{¢) The Medium Term Fiscal Policy Statement

{d) The Fiscal Policy Strategy Statement

Answer Option :

(1) (@), () and @ (2) (@) (b) and (d)

(3} (b), (c) and (d) (4) (a), (c) and {d}

130.

FIele faur aregs A= vt e

(a) TR gqe HOT fGduw ¥ 97 fades swea 3@ T

(b) T FrefigE waitawEds fatae § o favas ofes ol T

(¢) Hursy SEREMETET™ fadyw § o1 [Sdus doa &9 AWl

TR T

(1) TR (a) ST (b) ST AR W (c) T AR

(2) WA (a) I (o) WS FRA TA (b) TR AR,

(3) & vl FHH R,

(4) wd vafa I oTEd.

Read the following statements and select the correct option :

(a) A Bill that contains a taxation clause may not necessarily be a Money Bill.

{b) A Bill involving expenditure from the Consolidated Fund may not necessarily be a
Money Bill

(c) A Billinvolving audit of the account of the Union may not be a Money Bill

{I) Option (a} and (b} are correct but (c) is incorrect

(2) Option (a) and (c) are correct but (b) is incorrect

(3)  All the options are correct

(4) All the options are incorrect
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131, THT GO THAAT TLTHIA] HEeed] AR Fe6q HE G 6] 2

(a) T HHID AT RE HHE WA AR Hel 33T HIUvATga df STHIRT FI0RT 309 Wi
Hedl N BTE e[ I90.

(b) T BTSN ANSHHT 7 HSATH ALII A ST FH S0

(¢) R I WUNR IToNTea fEaisial AT ot N T 6 ASTSural Hioa] AT
= TR AN g,

(d) TR = VIR ATTeA feienial STff Fe TS W 6 ASASIT FoEE! EHET

T W

(a) AT :

() HWEEO®R (2 TS dFR (3 () () (4)  (b) smfor (d)

What is not true of the Ordinance issued by the President when the Parliament is not in

session ?

(a) [t shall be laid before the Parliament. If the Parliament disapproves of it within
6 weeks of the reassembly the disapproval comes into effect

(b} If the Parliament does not pass disapproval within 6 weeks the Ordinance comes
into effect

(c) If the two houses reassemble on different dates the period of 6 weeks is counted
from earlier of the two.

(d) If the two houses reassemble on different dates the period of 6 weeks is counted
from the later of the two.

Answer Options :

Besides (a) :

(1) Only (c) above (2} Only (d) above (3) (b)and (c) (4) (b)and (d)

132. ABNIETA® U9 deradi=a] RO aaTEe 4 QIoeqh! HIvT Hid ?
(1) oia: W gEEE
(2) qUia: T WEHR
(3)  TERTEA AN UM Y=g SHEHA
(4) TSieR qfrg nftr Teremem SwaAe

The salaries of the employees of Gram Panchayat in Maharashtra are borne by whom of
the following ?

(1) Entirely by Gram Panchayat

(2} Entirely by State Government

{3) Shared equally by the State Government and Gram Panchayat

{(4) Shared equally by the Zilla Parishad and State Government
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133, YWRAH TIHATHR Wieash] SHI07 (U STeTsEwN seEde @ ! 2
(2) T T A UV STE] 9TNT A6 UG ACTH T e Wl
(b) HRATG WO AR @it e gl fo, sy 9 S gadTm afyer o,

(c) W U STCTECATHIG = N T Tmuare) SR 3.

(d) HIVRAE AREE T5F T 7Ed W< g1 HIore Rerfiren deda g, g, s e
AN SR FAYT ATHHAT JUT AT

i IW

1) (© 2) (a) 3) (@), (© 4 (), ()

What is not true about the protection of interest of minorities under Indian Constitution ?

(a) Constitution explicitly recognizes minority status on the basis of a religion or a
language.

(b)  Only citizens residing in territory of India have the right to conserve their distinct
script, language or culture

()  Only religious minorities have the right to establish educational institutions of their
choice in India

(d) Nocitizen can be denied admission to any educational institution receiving aid from
the state funds on the ground of race, religion, caste, language.

Answer Options :

O © 2 (a) 3 (@ © (4)  (b) (d)

134. wd e aAfsEmT=n il Meme T S9ee e el & (MHRqHR 3vEd 1
(1) feramme maRrar WS QId=Dn T o150 onfor wereny femyfa ww T Sed=n
TS STau.

(2) Torars Qiara T SR e sty onfty weraas femeia Wi g auEen
X ST,

(3) Toramea mara geuinsie JMERAIe TIa@iat FH SO0 S o= T HR T,

(@) e wEE .

The initial Educational Backward Blocks were drawn up in connection with the Sarva

Shiksha Abhiyan on the basis of twin criteria :

(1) Female Literacy being above national average and Gender Gap in Literacy being
below national average

(2) Female literacy being below national average, Gender Gap in Literacy being above
national average

(3) Female literacy being below male literacy of the state and high drop-out levels ?

(4) None of the above
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135. Taum™ (A) : wRar=n TgTdit fee gy fFagv s TsdiE] 8.

WHRUT (B) : UL YEA YHRIE {TTHE 31 Fed TTHE T8 37941

(1) (A) 3701 (B) =S SR ATzd. (B) 7 (A) "2 o T 1.
(2)  (A) 3f0r (B) =1 sa) SMIRA. 9T (B) § (A) I SIEX W TE,
(3)  (A) SIS 3§ Y7 (B) IH 3.

(4) (A) I AR 9T (B) sRIET R,

Statement A : The President of India is indirectly elected.

Reason B : Under the parliamentary system of government the head of state is only
a nominal head.

Options :

(1} Both (A) and (B) are true. (B) is the correct explanation of (A}

(2) Both (A) and (B) are true. But (B) is not the correct explanation of {(A)
(3)  (A) is true But (B} is false

(4} (A) is false But (B) is true

136. iHRE F R HareA FHYMEIS AT ?
(1) —amaear |1y awie
(2) =R HivETES
(3) AmEEH T I St
(4) AmEeErE faEiRmReE MY

What does the term Amicus Curiae mean ?

{1) Friend advocate of the Court
(2) Messenger of the Court
(3) A salaried officer of the Court

(4) The British time nomenclature of a court
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137. @eie faum o = -
(a) WigCHE! AEE FBTH R (agd AMSen Afew TAwiaws sfavard 3ua Ha
BIOATEIET 2/3 SgHaTE SRRl ST,
(b) wieotaret uga s feen vge ffvea o sram.
(c) HYT SYST ST Y WA G Ul S,
(d) =9 WUE ug g AleiusT TEtE aTed,
T N ST I 9 AR SRS i Tt fr -
1) @ OTRERRE, HIF Q) () () RRRE (), b TF
(3)  (a) (o) TS T (b), (d) TH @) (), (o) SR W (a), (d) TH
Consider the following statements and choose the correct option given below :

(a) 2/3majority is necessary to pass the no-confidence motion against a woman Sarpanch
who is elected on the seat reserved for women.

{b) The reservation of seats for women is done on the basis of rotation

(c} Sarpanch submits his resignation to Sabhapati of Panchayat Samiti

(d) The post of Upsarpanch is also reserved for women

Answer Options :

(1} (a), (b) correct, (), (d) incorrect (2) (c), {d) correct, (a), (b) incorrect
(3} (a), (c) correct, (b), (d) incorrect (4) (b}, (¢) correct, (a), (d) incorrect

138. @ote faurE faar &0 (A f R) -
faum (A) : T&0 MaSUF Y TTFROT=] =T Ee s Wehal.
T (R) : TETET HAGR o Y Heqr Soer= A STar SIfHeR e AR,
WSS TAEMYA Iaq4l 98 T ¢
(1) (A) e (R) Erel W TR (R) 3 (A) T TR FRT AR,
(2)  (A) T (R) S} 6T 3TRA TG (R) § (A) = SER HRE TR
(3) (A) B A1 WY (R) TR .
(4) (A) TR IR T (R) B .
Consider the following statements (A and R} :
Assertion (A) : Chief Election Commissioner can be dragged into the vortex of politics
Reason (R) :  He has power to order repolling in a constituency.
Select your answer from the following alternatives :
(1) Both (A) and (R} are true and (R) is the correct reason for {A)
(2) Both (A) and (R) are true but (R) is not correct reason for (A)
(3) (A)is true but (R} is false
(4) (A) is false but (R) is true
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139, HEHI@ Fa IV Holt=a Fhey TeeEd Qee faumE faam .
(1) 9 9 YW AW TERS FIL S e 3w,
(2) WAL TR a1 WRGT 41 & HoEot .
(3) FRHE TATER TGSV THEY T hawAHl AR,
(@) 1 yheame R FrTen AW wEEeE 39 § UREYR wEe HE: TR,
Fiede! DK faem ST @ ?

Consider the following statements about the Mahakali River and the Project associated
with it :

(1) Mahakali Treaty is signed between India and Bhutan
(2) Mahakali River is known as Sarda in India
(3) Pancheswar Multipurpose Project is the centrepiece of the treaty

(4) The project will mainly have power and irrigation benefits besides incidental benefits
of flood moderation

Which of the above is not correct ?

140. SETTRTE & & & :

(a) omea fequisam= gt . (b) YTEE, WTHATER S <Rl

() THaETERTSt SHeaR 39 . (d) T el ueiE 39 uE,

FhStE! FR fagm,/ faum atET R ?

(1) 33 (b) (2) () T (b) 3) (@), ®) T () @) () (b)nfr(d)

What are the aims of Pressure Groups ?

(a} To fulfil their own vested interests

(b) To put Pressure on Government and Administration

(¢) To field candidates in Elections

(d) To back Political Parties

Which of the statements given above is/are correct ?

(1) (b)only 2 @and() () @ G and(© 4 () (b)and (d)
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141. WM YHEAMHT T areld 3 aaee fegeaam .
i
1 9T - wigoEE! TEe o
1 ¥ - ST ST Ty R,
1 91 - 6 WIYR 9§ ol TEHIE! TR,
5 ITIRIAT WIS Tare 74 fieerd, ®vm 6 Jiear fHeagy o ?

5 SHEEN e
(a) . mEt - wfgen 500
(b) Wieer 200
(c) &9 - Y, St 200
(d) & 400
(e) &Y 300
Tqtg SE

1) @@E @ @Od 6 @6d @ @oe

3 members are to be elected from a particular ward of Gram Panchayat.

Out of which .

1 - seat is reserved for women

1 - seat is reserved for scheduled castes

1 - seat is General Open

5 candidates secured votes in the following manner. Which three of them can be declared

elected ?

5 Candidates Voting
(a) Woman - 5.C. 500
(b) Woman 200
{¢) Male-S.C. 200
(d)y Male 400
(e) Male 300

Answer Options :

1) @ (d) (2 @ ) @ () (a) (b), (d) 4 (@) b) @

142. TasTm ARErR e T Maevwid tfage Tiod 3 el SHaR) 2012 HE A, IR
FHREE! 8 TS S TSH 7
(1) o6l TEE FOgEE wagErET fgaumdd
(2) o HAiqH Foaren IREWYT HagHie feamred

(3) Trorsumm= Syl Hemdd! .

(4) TEFTEN feaErEA waHsTll TRETEd

Election Commission banned exit polls during the elections to five state assemblies in January
2012. For what period were they banned ?

(1) From filing application to polling date

(2) From the finalisation of application to polling date

(3) For the entire period of elections

(4) From polling date to the counting date
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143. GO@ah! HIvR S Wign afifs =mm ae (Fofage g Svaren afuermessd) 9im ?

(1) W sgEreet (2) I Hie TERE

(3) SISt siiceH UreH (4) Sifew W fqe fan

Which following Latin Maxim provides the principle of natural justice of right of
hearing ?

(1) Res Judicarta (2) Nemo quat natural

(3) Audi Alteram Partem (4)  Justice res sit rea

144. il 31 I I  qefier s o

et (31) wE (q)
(a) R Sar qe Gy ifema oo T gfam w9
(b) wRHr T T (i) e s ¥ AfT wh
(c) YIRHTg wreree a& (ili) R SRR ST
(d) foag (iv) YRAG H9gl 99

@ ® © (@
O @) @ @ G
@ 6 @) Gv) )
@) G) (v G 0)
@ ) @ 6
Match List (A) with List (B) :

List (A) List (B)

(a) Bhartiya Janata Party (i) Indian National Trade Union Congress

—

(b} Indian National Congress (ii} All India Trade Union Congress
{c) Communist Party of India (iii) Bharatiya Kamgar Sena
(d} Shivsena (
@@ (b) (o) (d)
() v @ @ G
2y @ () v} (@)
@) @ @ ) O
4) @) @ @O @)

iv) Bharatiya Mazdoor Sangh
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145. WERIrre foregr uiiuaian s19ae faew e sifyen siv ormed ?
(a) Hei® T
(b) < TRgOEdT H/ITH
(c) T TUIHS F/SUHT

(d) o "y

Tyt S

1) (a) 3 (b) (2)  (a) = (d)

(3)  (a), (b) STV (d) @) (a). (b), (c) ST (d)

Which of the following are the special taxation powers of Zilla Parishads in
Maharashtra ?

(a) Stamp Duty

(b} Cess on Land Revenue

{c} Cess on Water rates

(d) Forest Revenue

Answer Options :

(1) (@) and (b) () (2) and (d)

(3) (@), ™ and (d) (4) () (b), () and (d)

146. T&. AT fo%g F% (AIR 1970 5.C 150) =01 G M GO@IH! hioar q=1 2 ?
(1) i Sk T (2) Fafee Ta9E
CERELERELI (4) =T Fd"
Amongst the following which issue was involved in A K. Kripak Vs. Union of India (AIR
1970 5.C 150 ) case :
(1) Pecuniary Bias (2) Persona.] Bias
(3)  Subject Matter Bias (4)  All the above

147, TEE! TEAT W STIUY e I I ad faes ARy _mrede o Sl 9 SR AR

Sfaey et W wia FATE AR o7,

(1) TR (2) From @) (4) eF
Special Court Under SC and ST (Prevention of Atrocities) Act has power to pass an order
of of a person likely to commit offence.

(1} Injunction (2) Suspension (3) Externment {4) Arrest
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148. 9T qUET QT 1872 =1 FoH 123 TR Y1 7 Foed] WHSH Srafed st el
Vererd WAL o, AR fhen Wl faamIgET
(1) W 47 TRAH 50 AU W $LE
2) WO TR Ire
(3) warlt g vehd A
(4) AT STEvERal AR
While granting permission regarding evidence derived from unpublished official record
U/sec. 123 of Indian Evidence Act 1872, the officer or head of the department
concerned : ‘
(1}  Shall give or withhold such permission as he thinks fit
(2) Has to give permission
{3) Can not give permission
{4) Permission is not mandatory

149. WOGIH! SHvTEN =AM FoEmgR wrenfaen § ger=r W T8 o wiaweT wwmw Jme ?
(1) sE T () TR G
(3) HHAET MR G (4) AT fores WA WA
Which of the following judgements stated that Preamble was not a part of the
Constitution ?

(1} Berubaricase (2} Golaknath Case
(3} Kesavananda Bharati Case (4) Bommai Vs. Union of India

150. W giaemren yrefeshdie ‘e’ @ FHeqq] Totetst S o i g ?
L (@) Y TSI 9RA eI Friea fof 9 wed @ © F% e
(b) % nftr wew T4 Q= WE MR,
(c) YRGWT 9" Tha Uy T HE AL,
(d) WRAFT WS WL YU HIHR H0ar AHHR 1R,
g IW
1) (b), (o) (d) (2)  (a) (b). () (3) (@) (9 (d) 1) (& ®) )
The term ‘Sovereign’ in the preamble of the Constitution of India subscribes to which of
the following meanings ?
(a) India can make and unmake any decision with respect to itself without any
interference from outside
(b) Union and states both are sovereign
{¢} Union of India can acquire foreign territory
(d} Union of India has the power to cede parts of national territory
Answer Options :

1 (®), (0 () (2} (a) () () 3 (@ @ @ 4 (a) (b} (d)
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T — (g8 1 96T T3.... )

®) TRasnsd fafer Hocm fGfire 9rie == +M (1% 96) FU8. ey STuee al
T HITEER = T Hedd d R FOA TAW F0 AE, T8 A0S AL 7 AR SHEINE
WA S Fosedn e gt Tveni sy FRvaasad afafae-g2 7 A WgeER B
FOE e g St o] ST Ush SN ShRIGTE=AT S0L/fH T TR TR e serea fdd
TS TS,

(@) TR TR SR fafzd ®edl d& dueara ANl B TR W aia TOeTHaaes
ST T WA o, WA U0 ST AUl SHEAT SMuedt S 9Tl 1

AYAETHRTRS 7 TauET T T SavaE .
AT Y91
T HAIE 201, HArE 9@ T HOEHS] FO Hod: TIE H 7
(1) T TAFT W @) EvevEe faerEnR
(3) TS UHHIEA 0 @  TieEs T

9. . 201

TR 1 IR (3) T TEEEA o oR. e W W S| O(3)” dHe. ke
TIAEHRIV T %, 201 YHIGS SR-wws ()" ¥ ade Qoiad) Sraifsg w&d St s
.

ONON N0

YN TEAH TR TR Ao TE TEEl el SuGhHis 8 R Saae Tiee

IqWlhele & N YRS EEe Tl age Uiyt SHifEd $E& JEadr. g
Tad FTEAT VIR Sieus armd, U a7 yEe U a1,
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